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@ Wit A ST fee TEe A HivE faur St ke ?
(a) AT G T 1992 Wi HFI0IW A,
(b) @ diawfs 99m o
(€) 91 STRIVTER U Feas Al Ure WG ST e AN WA Ugydl, Bihawl Seas
anfor wete <Ear SETEE S,
(d) P wfee R Uy Afge’ TaTE! gautas yias .
g iy Fas
1) @aE @ GERE @) @M@ () (AR
Which of the following statements about the National Commission of Women (NCW) are
wrong :
(a) ?\ICW was set up in the year 1992.

(b) It is a constitutional body.

{c) It consists of one chairman and five members appointed by the President of India,
Speaker of Lok Sabha and Chief Justice of the Supreme Court.

(d) ‘Rashtra Mabhila’ is the newsletter published by NCW.
Choose the correct option:

(1) (a) and (b) (2} (b) and (c) (3} () and (d) (4) (a) and (d)

2. ‘Hovd wdedl’ SEdedl W faymEr e .
(a) TEIO TR A HE HEA .
(b) T 42 =N TEARERI TR GHIfIE FX0ad S
(c) € Tdsl TouweT=Al favm IV - &1 A8 9 ®ow 51 - 1 74 @ e
(d) oTvia wda oraf @ SAfefeamed AR,

Fhol® HvE! faum s{ET ame ?
(1) &de (a) M (b) (2) &9 (b) I (c)
(3) Fa® (c) U (d) (4) IS (a), (b) ()

Consider the following statemnents about the ‘Fundamental Duties’

{a) It may be said that they have no significance.

(b) They are included by the 42" constitutional amendment in the Constitution.
(c) The duties are stated in part IV - A and in article 51 - A of the Constitution
(d) They are as provided for in Amcerica and Australia

Which of the statements given above is/are correct ?

{1) {(a)and (b} only (2) (b) and (c) only

(3) {c) and (d) only (4) (a), (b) and (c) only.
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Qe qEial foa=n 4.

Iy FE THEYER STASIRA 31 T MeAgd 2 9589 7.
() T TR TadyeR 18 HeH Teae Wi,

TatEt I
(1) (1) e (11 sER a7 (2) () FE AR
3)  (I) T 3R 4y (1) a7for (1) A TF A

Consider the folloiwng statements :

Iy  There are presently 31 members from UP while 2 are from Goa in the Rajya Sabha.
(II} The members sent to Rajya Sabha from Maharashtra are 18 in number.

Answer options :

(1) () and (II) are correct {2)  {II) is correct
(3) () is correct (4) (I} and (II) both are wrong
s 4 b o sriv o) .

(a) ararE it uggdt wuE S R gRA A s gatd wH .

(b) . @RI EHT @ Al FHETEA NS STTAS g QY hB 11 TFAA! TGO HrdHTe I &
IHS AR

(1) HaS (a) (2) w9 (b) (3) o=l TR (4) WA

Which of the following two statements is incorrect ?

(a) So far Dr. Zakir Hussain has had the shortest tenure as a regular President

(b)  Dr.Zakir Hussain and Shri. Fakhruddin Ali Ahmed were the only two not to complete

their term as the President.
(1} Only (a) (2)  Only (b) (3)  Neither (4) Both

[#3 4

qEiets! Hiv faum W ame ?

(a) T SHEHA AR TG A YgE 5] FICATIA 6 a9 ol gof svada ffar
62 I8 FATTd EreR HEE T .

(b) <R TERl 956 Fgfii WaRy SERG ARE e wuH MY el @ e 9
fordlet arae Tt e sl dgt quie Srefwra e,

Wfﬁ’a?ﬁ':
(1) (o) T2 318 (2) (b) 33 oM
(3) FIIaE! faum A A (4) <= faum 9 eTRd

Which of the following statements is correct ?

(a) A member of state Public Service Commission holds office for a term of 6 years from
the date he/she enters upon his/her office or until he/she attains the age of
62 years.

(b) If a member on the retirement is appointed as the chairman of the State PSC he gets
an additional term of 6 years, irrespective of his age.

Answer options :

(1)  {a) is right (2) (b)isright

(3) none is right {(4) Dboth are right.
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6. TN AFE ¥ TGN HEEd Wiee faemr faar &,
(a) IR fraaTEEie St gEmer R Hedet YEYE ao Wel Q.
(b) TO, GURON ST FOMETE! oA el TR F@ME! ol srwm= el
TRUT T,
(c) Heafgaien ufifiedtan sram w0,
(d) TG TR A ST SO

TF FroR/F R AT S 2

(1) ®H (a) (2) R (b) ()

(3) T (), (b) I (c) (4 wd

Consider the following statements about the functions of National Human Rights
Commission.

(a} visitany jail or institution under the control of state government with prior intimation.

(b) inspect the condition of the person detained or lodged for treatment, reformation
and protection.

(c) can study the living conditions of the inmates

(d) undertake research in the field of human rights.

Which of the statements given above is / are correct ?

(1) (a) only (2) (b) and (c) only
(3) (a), (b) and {c) only 4) Al
7. ATl S, 1 At . 113 el F.
qrEt-1 qrEr-11

(RS HERATE 9Ui) (fagm)
(a) UHERHATHS HS GO AU T iy * =@
(b) STH-HEH (i) afoeet ofa T4,
(c) UGN FER=A (iii) . TA. IwGI A
(d) FEHO AT TR (iv) o1 . T A=

@ (b) (0 (d
(1) Gv) () () (i)
(2) (@ @) @) (@v)
(3) (1) () (v) (i)
(4} @) (@v) @) (i)
Match the List-I with List-1I

List - I List-II

(Description of Indian federation) (The Scholar)
(a) Federal in form with a unitary bias i) K.V.Rao
(b}  Quasi - federation (i) Appleby Paul H.
(¢} Extremely Federal (iii) C.H.Alexandrowich
(d) Centralised Federalism {iv) Prof. D.N Banerjee

(@ (b) (o (d)
() (v} (ui) (1) (i)
@ 0 @ @) )
@) ) O )
(4) () (v) @ (@)
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8. SAyweIm=l U YA fatass 2013 gR 4T TATET ST9AT Wedifad ofg, SHTHed Wiioqam
AT 374,

I 11
(a) THYY HAER HY (i) 07
(b) faee (iy 22
(c) TEIHYT qagNHH (i) 17
(d) faum dfmedie s (iv) 40
vy 10
g g e
(@) (b) () (d)
(L @ (v () (i)
(2) () (1) &) (iv)
3) (i) (v) () (iv)

(4)  (v) () () (i)
The Andhra Pradesh States Reorganisation Bill 2013 proposes to establish the state of
Telangana which will consist of :

I I

{a) Lok Sabha Constituencies iy 07
{b) Districts iy 22
{c) Rajya Sabha Constituencies i)y 17
(d) Seats in Legislative council {(iv) 40
(v) 10

Select the correct option -

(@ (b (9 (d)
O @ ) ) ()
(2) () () @ (v)
(3) (i) (v) (i)  (iv)
) av) ) @ (1)

9. Talw =rEed N 3= ey 9T W Siay wengen gk o e aifavd 1e gt

(a) YT e A g SR 91 e AaErEae e varE s ot

(b) Ta= =EEd i 3= =Teas sfuetd onfr Sew A AvE detua e
THE AT FHEm.

(€) TEE =fys SEF =afywie o gafadm.

(d) rEfau=n scHHe] WY AreyE ad TS 3R

Tl I

(1) (a) & (d) (2) (=a) F (c) (3)  (b) 3 (c) (4) (o) =i (d)

Following are the provisions of the Constitution to ensure independence of Supreme Court

and High Court, which of them are wrong ?

(a) The Supreme Court and High Courts have power to punish for contempt of court.

(b) The officers and servants of Supreme Court and High Courts are appointed by the
concerned Chief Justices.

(c) There is a National Judicial Commission for suggesting appointment of Judges.

(d) There are express guidelines for transfer of a Judge.

Answer options :

(1) (a) and (d) (2)  (a) and (c) (3)  (b)and (¢) (4) (¢) and (d)
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weie faar aren & et vl Hael

() YRAEUS SITo STERHVTEAT TR FRfTE 95 He Tsel.

(b) WA AT HRIFTRMA 396 W =AH A HER S 38 Felus o8 o,

(c) TERIPId 3o HEgfTeeie T HT. Wifed W e FHFRIE 1 F. T T

(d) AR TR YR ST W9 1, S99 R 9 HEE shhen ol ufe.
et S

(1) T faur o oA @) faum (o) enfir (d) 9w g

(3) Taum (b) anfin (¢) 319w @med. (4) faum (b) enfir (q) sTa=a aTRA

Read the following statements and select the correct option.

(a) The Communist party was divided on the background of the Chinese aggression.

(b} The Pro - India Communists were referred to as the Rightists while the Pro-china
Communists were referred to as the Leftists.

(c} InMaharashtra com. Randive represented the rightist communists while com. Dange
represented the leftist communists.

(d) Soon the leftist communists went close to the Congress while the rightists continued
their opposition to the Congress.

Answer options :
(1)  All the statements are true. (2) Statements (c) and (d) are false.

(3) Statements (b} and (c) are false (4) Statements (b) and (d) are false.
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11, [0l &

(a) #ehd JITeA SaI01 SYEAT]e FoR 0Tl 9 AeheAl (i) WAy oF
FROE FHA FHIOATE SHohd SAUF I8 AETGITET AT,

(b) I 3HIS FHFTH A foaamed wawe fFa e (i) AfrFR qEv | g=eT
AT S AT Hvg] 18 XS] AEGa
fToen e,

(c)  IEd STTHFR & 7 AV Feiea HIETE HI0FH! (i) FLIATE B
FE "ol FAedH soel T16.

(d) UK THAE TR E U% YN0 Hoedl Dbl wH (iv) SO TE
FLOATT HS AL,
it 3w

(@ (b)y (o (d)

() ) vy () ()

(2) @ @ (i) (iv)

@) @) @) @)

(4) @) () (v) (i)

Match the following :

(a) Court directs the detaining Authority to produce (i}  writ of probibiton.
the detained in the court and justify the
cause of delention.

(b)  Order of court to an inferior authority to transfer (i) writ of quo-warranto.
the matter to it or to some other authority
for its proper consideration.

(c)  Court prohibits an inferior authority from (i) writ of Habeaus Corpus.
doing an act which does not fall within its
jurisdiction.

(d) Court restrains a person from acting in a (iv)  writ of certiorari.

public office to which he is not entitled.

Answer options :

(@ (b) (o) (d)

(1) @) (v) @ (9
(2) @ @) @ (v)
3y Gv) () @) ()

@) @ (O (v) (i)
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12. faum (A): #& fafir sfiftadined, To0 WA FoaE farae wEE g Jfusr
THWUT (R): TWF TOmEmi=n SAqoasavi=a Fed G6g I GRdie SHivamg omame sEe
FE WEH.
gt I ;
(1) A 30 R 31 =07 3ea S R T A = 9 T #RR.
(2) AR FE S0 R WY R ¢ A T SIEHT TR
(3) A 90T R 99 R g& e
(4) A TFH AR 79 R T AR,

Assertion (A) . The Constitution empowers the Parliament to make a law on any matter
enumerated in the state list under certain circumstances.

Reason (R) : Parliament can make laws on any matter enumerated in the state list
when a proclamation of national emergency is in operation.

Answer options :

(1) Both A and R are true and R is the correct explanation of A.
(2}  Both A and R are true but R is not the correct explanation of A.
(3) A s true but R is false

(4) A s false but R is true.

13. YNAMe sege veRafaudt qEiets! Hiv faum e g ?

(1) weTges a8 FEe= FIAE TUNER W&l &aT 9.

(2) TNgER fagusmen Gad) qgTd A o

(3) TGl ToUTH WG HGME] UPIHiEl JHEAd STEavas HEd.

(4) weTgewl fatramEdt guden I AvnRER aewdal i w9y atfuae
Ao avarE! TERE L.

Which of the following statements is incorrect regarding constitutional amendment
procedure in India ?

(1) The constitution amendment bill may be introduced in either House of parliment.
(2) The Presidnet is bound to give assent to a constituon amendment bill.

(3)  The constitution amendment bill requires previous saction of the President before its
introduction.

(4) It case of disagreement between the Houses of Parliment regarding constitution
amendment bill, there is no provision of joint sitting.
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14. Hat= AmeEEn &R A 9iaumEt arg A wom A TS aR. gt e

Sferserran =@ qHEY F@ d Wi

(a) TG T (b) TN F

() HwA (d) HHSETE! G
(e) ~TATEH YA aifusr (f)  wEfAvasE

Tatd I

(1) (@), (), (), (d). (e), (f) (2) ), (). (e), ()

(3)  (a) (®), (o), (d), (B) 4) (@) (b), (), (e), ()

Supreme court has recognised certain features as basic features of Indian Constitution.
Which of the following features are they ?

(a) Principle of Equality (b) Principle of Liberty
(c) Federalismn (d) Socialist Structure
(e) TPower of Judicial review {fi Secularism

Answer options ;
(1) (@), (b) (c) (d). (&), () (2) (@) (c) (e) ()
(3) (@) (b) () (d), (f) 4) (@), () () (o) (f)

15. TIoEA] QAR ‘afweid qeaad’ ST S ol W, Tl ol T AT
(1) WA 9N Fae AT 9 o7,

(2) TSN WY hee AV § HeARHS U YR SAhied HHs] Tl
(3) HYET Dekiql AR gL Al FEUTTe,

(4) wge Afdide gl 99 quee & Flere FEead 8.

FhBIH FUK fquH 1T 312 ?

The draft of the Constitution has, been criticised as * a lawyers paradise’ the reasons are :
(1)  The language of the draft is familiar only to the court of law.

(2)  Only an experienced and well-versed lawyer in constitutional law can understand
the implications of provisions.

(3)  “The draft tends to make people less truthful”. Tt is said

(4)  Three members of the seven - member drafting committee were legal scholars of the
time.

Which of the statements given above is incorrect ?

THEEAT RIS AT / SPACE FOR ROUGH WORK


Admin
Line

Admin
Line


A 11 104

16. GHEIH FToE®! 2014 HeWika T <7 faeriis! ®Ivd @Y 378 ?
(A} T, T T FIR, TRES, T9@ a oot @ F w2 amga sl Jisen 2014 9
FTel A el i e wig 99 2009 T ke ST e Tegdl.
(B) TR, TSH, ITUEE, forelt @ feuraa wow @ of T STRG SNt WieTY 2014 =

s et wd =0 wd 91 e
watq
(1) &9 (A) BR T8 (2) e (B) G 3T
(3) ST R (4) TG T A

Which of the following two statements regarding 2014 General Elections is correct ?

(A) Haryana, Jammu and Kashmir, Uttarakhand, Punjab and Delhi are the states in
which the BJP secured some seats in 2014 but had secured none from any of these
states in 2009.

(B) Gujarat, Rajasthan, Uttarakhand, Delhi and Himachal Pradesh are the states in
which the BJP won all the seats available in 2014 General Elections.

Options :

(1) Only (A) is correct (2) Only (B} is correct

(3) Neither (A) nor (B) is correct (4) Both (A) and (B) are correct

17. G ¢ Foedl YR TAh A YeiHE e ©Iagi 9 Herhy v 31k 7
@) B4 (b) WTEIET qe (reRETEl)
(c) T o giwg (d) G FH v
1) (@ &)@ @ @ ® @ d @ b @ d e @ (@@ b) @

Consider the following political parties of India

(a) DMK (b) CPI (M)

(c) AGP (dy TDP

Which of the following is the correct chronology of their formation ?

(1) (@), (k) (d) (© (@) @) @ {) @ @ (@ k)b)@)

18. TRIOHE! eare fauM SR 1% J s,
(1) HIF HEVTHARN SIee .
(2) AT FEIMEA AT TAIMEAGRT Medl Fel Tl
(3)  WemeRTE falTanT SHEema M TIeTTER e Sal
(4) o7, THEd! LAALE 92 F ' HaEle ®U § To A Foan e .

Which one of the following statements is wrong ?

(1) Service Tax is levied by the Union Government.

(2)  Service Tax is collected by the Union Government and State Governments,

{3)  Service Tax is appropriated by the Union Government and State Governments.
@)

Now, concurrent list has new entry i.e. 92C “Taxes on services’.
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19, WH@TH! HIvE faum stsy SRy ?
(a) TTER Heea GRENAN Foi= Ao TR % vhd rEl.

(b) wrEH gifraa FOF gHem Aeed TErn Fhiel s 91 WG ko FHe W)
T ~AATed died 99 foeE ¥iohd T8,

(c) WHSA Id I FHEE! USSR e, Y Wale FHAISd KR HE hd Tl

(d) wER favas ol favas fadas: o s1yan A @1 Heulidie srena=n fvfaer wet=
AT Y¥ {qarE vhd 9.

Ui 39
(1) (b), (c) 31 (d) (2)  (a), (b) 37T (d)
3) (@), (b) ¥ () @) (a), (b), (c) oTfT (d)

Which of the following statements are correct ?
(a) The Supreme Court cannot interfere with the delimitation of constituencies

{b) The Supreme Court cannot question the detention or arrest of a person, if it has
been made in accordance with the procedure established by law

(¢) The Supreme Court cannot declare unconstitutional a law passed by the parliament.

(d) The Supreme Court cannot question the decision of the speaker as to whether a bill
is 2 money bill or not

Answer options :
(1) (b), {c) and (d) (2) _{a), (b) and (d)
(3) (a) (b) and () (4) (@) (b) (c) and (d)

20. WRdE Ffayren 10 =1 SRAEER Ee 9ee e o fhan 9t @ sifavamn sifyer
YEToeh! hITel 312 o |im

(a) TERNE AeAy (b) OFETH TG
(c) T TEdl (d) T g
Tt ST

1) @, (b)) 2 (@) (b) () (d) (3) @ G @ (@) b))
Who decides the question whether a member has become disqualified under the 10t
schedule of the Indian Constitution ?

(a} Chairman of Rajya Sabha (b) Speaker of Lok Sabha

(c} President of India (d) Supreme Court

Answer options :

L @, ) (©) 2) (@) (b) (c) (d) (3) @ B @ (&b
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21,  ‘foeore after’ wndte AROYER 959 93 TG, TRieHE e/ ST FEe o WO
HET IO/ A AE ?
(a) 14 Iuiydesa wd Yo Hiwd S Fwre e SuErE aiqe ST STYwes %, 21 3
THEY FHATAT IR,
(b) T AYHTTIR T . 51 31 HEA TH GO d Hdar=l 9 TSeet e,
(c) ‘Togror’ 71 fowa STl TG WHIfGE HUA A0 AT
it I
(1) (a) (b), (0) 2) (a) ®G) (0 4 @ ©

Right to Education has introduced many changes in the Indian Constitution. Which of
the following changes is /are not introduced by this right ?

{(a) It has inserted Article 21A providing free and compulsory education to all children
upto age of 14.

(b) It has also added one more fundamental duty to Article 51A.
(c) Education subject now belongs to ‘state’ list.

Answer options :

1) (@), (), (9) 2 @ G) (© 4 @ ©

22, HYIHS WIAOIH! HIUM YGMEEA FIG THUAT HAHR 713 7

(a) RGNS (b) AR AT T
() T=HA FrasE Igw (d) = A g
it 39T :

(1) (@) (b), (c) ¥ (d) (2)  (a), (b) 3 (d)

(3)  (a) (b), (0} (4)  (a), (c) 37T (d)

Parliament is empowered to get the following removed

(a) Comptroller and Auditor General

(b) Supreme Court Judges

(c)  Chief Election Comrnissioner

(d) High Court Judges.

Answer options :

(1) (a), (b), () and (d) () (a), (b) and (d)
3) (@) () () @) (@), (© and (d)
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23. WO qei (e #51

() WEEF FESW SeAHE W9 91-53 Well Wald GUW 1. TR arsaifaeg gt giea
¥E FOIME L

(1) wtite e G e,

(III) F0E Y& ShE¥d SUITrAT faUE 7aeM $0.

it FhY

(1) (1) SR IR, (2) (1) 3nfor (1) =R .

(3) () I (101} ST 3. (4) (), () anfor (111 fogt se atRa.

Consider the following statements :

(I}  The constitutional impeachment process was started for the first time against justice
Ramaswamy in 91-93.

(Il} The committee found the judge guitly.

(Ill) In the Lok Sabha the Congress Party voted against the motion.

Answer options :

(1) (I) is correct (2) (D) and (II) are correct

(3) (I} and (III) are correct (4) (I), (II) and (III) are correct.

24. FE T FACHSS [gTel 3ed. =gl fatgs wiita Fivamewla Augad! SToeard, HIow
T ITT STHA! 7
(1) TS Gl IEATH! Bgw das dromEad i @ sgaarn o ol §de o w3 e
2y TegureE ot sfe sl
(3) fafire Hea dveaEw faymadar fofa siftm s,
(4) U 9 TR TEudise T8as .
Bicameral legislatures have been provided in some states under the Constitution. In case
of a deadlock between the two Houses, in such states :
(1) joint sitting is called by the Governor and the decision of the majority is taken as the

final decision

(2)  decision of the Governor is final
(3) the opinion of the Legislative Assembly is taken as final after lapse of a specified

period
(4) the matter is referred to the President for decision

25, wrere Tl foar w1
() vRdE wfaur aweee 9. e teras 3fegien stam e .
(1) @ 304 Wfaum ¥ 22 THar 1948 TS @Hd ha.

e 1 B'?ﬁ' :
(1) () Ffor (11) =t e TR (2) (1) o (1) S I TR
(3)  (II) IR 378 (4) (1) SRS 3R

Consider the folloiwng :

(I)  The philosophy of Indian Constitution was part of Pt. Nehru's historic objectives
Resolution.

(I)  This Resolution was adopted by the Constituent Assembly on 22 January, 1948

Answer options :

(1) (1) and (I} are correct (2) (I) and (II) are incorrect

(3)  Only (II) i5 correct (4)  Only (1) is correct
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26. Feoull &
(a) OHEY AT FUEEN TIGRAT 2026 WA quieRd (1) 89 1 SZAgE!
TR,

(b) TIHHT IRIHS! @ ATHEIT G IEET Tas g @, (i) 92 =t FAgew!
() HeM HAmeame Wil Wl (TqgHTEiEd) § 1 (itiy 87 o weAgEw!
T swre Tl SEa (qEINaMEd) ATHH oemaH
T gE= o Ty wes 99 15% @ Auw

HEUR AL
(d) UsEeen ongen Uiy W), Snfl, Hiuh snfn Hendt (iv) 91 o HegEwdt
it 39

(a) (B (g (d)
1)y @ @ (v) @)
(2) (v) (i) (@) @)
@) () (v) (@) ()
(4) @) () @) (v)
Match the following :

(a) Number of Lok Sabha and Vidhan Sabha constituencies (i)  89F Amendment
to remain unchanged till 2026

(b) Separate National Commission for Scheduled Castes and (ii) 92" Amendment
Schoduled Tribes.

(¢} The number of central ministers (iii) 87t Amendment
(including Prime Minister) and State Ministers
(including chief minister] not to exceed 15% of the
total strength of Lok Sabha and Vidhan Sabha
respectively.

{(d) Incorporation of Bodo, Dogri, Maithiii and Santhali (iv) 91% Amendment
languages into eigth schedule of the Constituion.

Answer options :

(@ () (o (d)
(1) @D @ Gv) ()
2) (v) @) () @)
@) G ) @ ()
4 @ G @@ @)
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27. Tvdien g¥= AfysmHayl yfaufqs woen (g fGumide srrg faum o ?
(1) @R TYEN TuaTd See e g rfyer B Ted Tl
(2)  TEGd! A ATFEET TR AAINEEH Hewd e HIT.
(3) TpTdieA A1 SfHHI=A AT A fdeh Fid dd el
(4) WA AT F. 72 TER F1 ST ot e fafire meicsie @ Higvart T
L.
Which of the following statements related with the President’s power to grant pardon is
incorrect 7
(1) ___The punishment given by court martial is not covered under this right.
(2)  This power is exercised by the President on the advice of the Council of Ministers,
(3 The exercise of this power by the President is not subjected to Judicial Review.
(4)  There is no need for the court to lay down specific guidelines for exercise of this
power under Article 72.
28. wrere faumar fagr w1,
(a) 259G, 1950 T YRATE fai=r Sarmen wemen 5 o
(b) A TEF TR feA ' FOH AT G SIS el .
(c) T A FIETNS T 9@ 7 372 H1 TaQN FaeH H0a fodi F,
Fiie faeiean fauraidat o) faem ste $ed 7
(1) &3 (a) F (b) (2) hEe (b) MW ()
(3) FAS () A (c) (4) e (a), (b) 3O (c)
Consider the following statements :
(@)  25M January 1950 is the foundation day of the Election Commission of India.
(b) It is celebrated as the ‘National Voters” Day” by the Commission.
{c) The objective behind the celebrations is only to exhort the voters to vote.
Which of the statements given above is/are correct ?
(1) (a), {(b) only. (2) (b) and () only.
(3) (a) and (c) only. (4) (a), (b) and (c)
29. ‘OrEbAEeAT= WE wEE fqE 1.
FoT fouT S AR 7

(1) T W R 96, S e @eol Al steer af, wan Ad.
(2) WWWMWWWW@%%E@HWW%
(3) WM AEIENE HET R FH v wEd &,

(4) AT FHIVET R

Consider the following advantages of ‘Loknyayalaya” Which of the following statements

is incorrect ?

(1) It can be used at any time, evert when a case is pending before a court of law.

(2) It provides a better solution to the disputes, more expeditiously and at less cost than
litigation

(3) Tt helps to reduce the work load of the courts

(4) None of the above.
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30. WRAW |9 1972 WEH SFAATG ST UTH0 G0N RAsur=a YHOTEeHia 1 @ e ?
Tt A9 3 et qront fady srifira o
(B) ! 0 16 e U ITHIFE Bl
g
(1) ¥ (A) (2) 92 (B)
@) SETE TR @) <

What is not true as per the norms for rural water supply adopted since 1972 ?

(A) You are expected to drink 3 litres of water a day.
(B) You should bathe in 16 litres of water.

Options :

(1) Only (A) (2) Only (B)

(3) Neither (A) nor (B) is true (4) Both (A) and (B) are true
31, TGS oM oW AE JBvit F

(a) wH Ted, SIS HEHR Tl HO<=A Fragien O aois. ()

(b) TET TS FEHR T HeT=N FRGR T A IR T (i)

a1 THuFFRE TR AR aten R arde
() TpUH HehTNd AR GHHIA, haredl hERI Te= (ii)

HREEEE], mﬁmﬁmmmwwww
FH Y& HTS.

(d) TeIT-TSAVE] GH-aATEEt TEudt ey aitue Fae & wadla(iv)

qgiEt 3
@ ® (@© (d

L G G ) @)
@ O @) (@) @)
@) Gv) @) ()

@ ) (v) @ ()

Match the provisions with the articles :

{(a) State shall use its executive power so as to ensure compliance (i)

with laws of the parliament.

(b) State shall use its executive power in such a way as not to
impede or prejudice the executive power of Union.

(c) The President may with the consent of the state
government, entrust either conditionally or unconditionally
to state government or to its officers, functions required for
the exercise of executive powers of the Union.

(d) For securing co-ordination among states, the President can
establish an Inter - State Council.

Answer options :

(@ (b) () {(d)

(i) () (v) G

0 G i) ()

i) @) @ 0

) Gv) () G

(i)
(iai)

(iv)

weTH 257
HeTH 263

FH 256

helq 258

Article 257
Article 263

Article 256

Article 258
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32, fades WS FOAHEAH HHSHT Sg) GUTRIA Tafyeia] STHeAS 3791 TSe g1 R{vaRet
T qige; @ATed.

e YIS THIOT Sl U §w W9 2% .

(@) o9 fad== (b) wEErERn fadas
(c) wrRMIgEHT fadws (@ Fot fadad
qrrg qgE e

(1) (@) (B) S () (2) FF (b) () (3) F (b) A () (4)  (b). (c) VI ()
There are provisions in the Constitution regarding removing dead lock between two

houses of parliament in case of disagreement on passing of Bills Hence, joint sitting of
both the houses is possible in case of :

(a) Money Bills (b}  Ordinary Bills

(c) Constitutional Amendment Bills (d} Financial Bills

Choose the correct option.

(1) (@), (byand () (2) (b)and (c)only (3) (b)and(d)only (4) (b), (c} and (d)

33. WIOOUH! HIVH faurt SUET R ?

(a) ELdiavEn favg faBm 59 (1987) M Weoa™ Walsl ~AMGAM HegHATE TEATT qal
[CAkilcac

(b) TH IR wWE faeg 3% TIE (1994) TGN Hala AETIaN ®weH 352 91 7Y o

(c) Tiwat foew fagg &g IR (1980) 1 T Tl <AMTGAH oo &1 ' 4% o Foead
fraeus1’ 71 TeT=41 YOuR ST 91T 3.

(d) wHIEEE AT favg i@ U9 (1973) 91 Geead Jei= =Aaed  qoa st € oo
BIEE]

T gar frae

(1) (o) 3o (d) (2)  (b) & (0) (3)  (a) S (b) (4)  (a) 370 (d)

Which of the following statements are cotrect :

(a) In D.C. Wadhawa v. state of Bihar (1987) the Supreme Court commented on
promulgation of ordinances

(b) In S.R. Bommai v. union of India (1994} the Supreme Court interpreted Article 352

(¢} In Minnerva Mills v. union of India (1980) the Supreme, Court declared that free
and fair elections’ is one of the basic features of the Constitution.

(d) Tn Keshavanand Bharati v. state of Kerala (1973) the Supreme Court introduced the
concept of Basic Structure’.

Choose the correct option :

(1) {c) and (d) (2} (b) and {c) (3) (a)and (b) (4} (a) and (d)
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73 A FSAGERITGEHd WAtedsh! St faum stel 37a ?

(a) W& Ui T Hewisn Maguwa Aigoisid 33 28 SIFN SR HEde.

(by AT TS G S [EOETET 94 T SN T SR,

(c) vama T den= Maifaa quws, SR 31 dan sfis 1o sThdte, W I S,
(d) T AW TEEd T60 X 9@ e T 981 Hliear=an 3 Haeve S Sde
it 3wy

(1) (b) 3T (d) (2) (a) 30f (d) (3) (a0 (@) (a), b))
Which statements among the following are true about the 73"¢ constitutional

amendment ?

(a) Thirty three percent seats in all the elected rural local bodies will be reserved for
women candidates at all levels.

(b) The states will constitute their finance commissions to allocate resources to Panchayati
Raj institutions

(c) The Panchayati Raj elected functionaries will be disqualified to hold their offices if
they have more than two children.

(d) The elections will be held in six months time if Panchayati Raj bodies are
superseded or dissolved by the state government

Answer options :

(1) (b} and (d) (2) (a)and (d) 3) (@c)and (d) (4) (a) (b)and(d)

35.

T YRl ARGy denmed, ‘enfYfer awar anfur fawmar=n wafkd U, Weets! HivR
e wrem FOO S7AfRI TR ?

(@) HMHTE R

() Shaavas Jse

(c) SISIRYYNG ToATH! AT

d) W F@de 95d

(e) TSN SR G Wi giaw

I gy fyaer
(1) (a) 3T (c) 2)  {(a), (o), (d) I (e)
(3) (d) 3T (e) (4)  (b) 37 (d)

In the Directive principles of state policy, the state is supposed to secure within the limits
of its economic capacity and development, the following :

(&) The right to work

(b) A living wage

(c) Public assistance in case of sickness

(d) Maternity relief

(e) just and humane conditions of work.

Choose the correct option :

(1) (a) and (c) (2) (a), (c), {d) and (e)

(3) (d)and (e) (4) (b)and (d)
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36, TENIRMIC WO SBfEd HIomed] St {0 KT T AHihed 318 2

(a) ¥1.E1. qenyE (by faran wa (c)  3TOUN BN
(d) ifem fas (e} THymE T (fy =T FA9F =1
(g) TGN W S

U"IW q‘ﬂ'q Haer :

(1) @) (0 (e) (O 30T (g) (2) (), (b), (d) 3f (g)

3) (@), ), () 3 (f) @ (a), (@), () =T (g)

Which persons from Maharashtra mentioned below are honoured with the Roman
Magsaysay award ?

(a} C.D. Deshmukh (b)  Vinoba Bhave (¢} Anna Hazare

(d) Nileema Mishra {(e) Sindhutai Sapkal (fy  Dr. Abhay Bang

(g) Pandurang Shastri Athavale

Choose the correct option :

(1) (@) (¢}, (e}, (f) and (g) (2) (a), (b), (d) and (g)

(3)  (a), (b), (&) and () () (@) (d), () and (g)

37. WifEgww fagam =rai=n faomdss gEio fam arga =i srEmra faur men,

(1) TFETIes e (A Asisarta fogy el g8 FTREE! fai wesn geueaE
TS = ST WA W e werA 9 R,

(2) oTIN SrrEEE g e yee 3§t 500 e et Svan 9.

(3) USitE TR gk faregt diem, sdn faeneatn wufus fasw, dowy nedwe SvamE

forsgert Aot oTre.
(4) TeTHE WO U feong AR OO ST gE HOAd ST SEH g AT
AT ST HeA T Ui faeer 41 Aeasl g S e 3.

Find out incorrect statement about education to physically challenged persons :

(1) The Ministry of Social Justice and Empowerment is providing financial assistance to
NGOs to set up special schools under Deendayal Disability Rehabilitation Scheme
{DDRS).

(2} Under the National Fund for People with Disabilities {National Fund} 500 new
scholarships are awarded each year.

{3) Rajiv Gandhi National Fellowship Scheme for students with disabilities has been
launched for providing them scholarships to pursue elementary education with
medical help.

(4) 'The scheme of Inclusive Education for the Disabled at Secondary State (IEDSS) has
been launched and it replaced earlier scheme of Integrated Education for Disabled
Children (IEDC).
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38. YEIGUH! RVl FaSupiayai=t YaRm yRda Maevs AE gaqodl TRt ?
1) Trasom s T Wars Sied M qvar aen o/l s ST a6 9.
(2) SHCARIE BTG TRhH HHT FITATET TS R,
(3) THED THA ATHF HAREET IRl (TISush Jevard 3] Hevade! HITe

ot R T,

@) FasTE STERTERE WA SiaaeArE qqs dEmE.
Which one of the following is not a proposed electoral reform of the Election Commission
of India ?

(1)  The Election Commission has proposed that the expenditure of the Commission
should be charged on the Consolidated Fund of India.

(2)  Need to reduce the security deposit of candidates.

(3) The law should be amended to provide that a person cannot contest from more than
one constituencies at a time.

(4) Provision of Independent Secretariat for the Election Commission.

39, Siedl Yo
I-wifeRTdter fFraser Saumt wre n-ad
(a) 9L AT FrgLvATe IIA FE (G 1986
(b) wiafedt s (i) 1957
(c) Hfeed THY yagH HEe (iti) 1954
(d) WHR WIE! ®ERl (iv) 1990
g v et

{2 (b) () (d)
1 @ @) @ (v
(2) () @ (i) (v
(3) (v) () (1) ()
(4) () () @@ (v)
Match the following :

I - Laws governing advertisements - II - year
(a) The Drugs and Magic Remedies Act (iy 1986
(b)  The Copyright Act (i) 1957
{c) The Indecent Representation of Women Act (iii} 1954
(d) The Prasar Bharti Act (iv) 1990
Choose the correct option :

(@ (b () (d)
1) @ @) @ (i)
() @) (@ G (i)
(3) (v) (i) @) ()
@) (@) @ @ @)
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TE@UE! HIVE! faam g 3R ?

(a) WM 1967 =1 faura FeeEmes ¥ faumada graar) vam gaitus S e,
(b) T.UH.CH. AR B A HREE 98Y IUGaR Fled RN a0,

(c) DFIE FESTHIA Gud oS § RIS Jieee THIaK TeT e 2.

qatdt I

(1) (@), (b) () 2)  (a) (b) @) O (@ 4} (@) (9

Which of the following statements are correct ?

(@) In the assembly elections held in March 1967 the Communist party won the largest
number of seats to the Kerala Legislature.

(by E.M.S. Nambudripad of CPI became the CM of Kerala.

(¢) It was the first Communist Party government in the world to be in power through
democratic elections.

Answer options :

1} @), (), © (2)  (a) (b) (3} (b), () 4 (@ ©

ATl fegus A 1961 THR SR TH TS F0aR WOER=l &ue g4
Hafedeft g faum amn

(a) IR UH GHIE AeRREHMIS Masus wdiE e Taie €. 70,00,000 SART IR,
(b) 3TEVTEE YW, e, fafwy T wer Ta A wEtE SUe 99 €. 56,00,000 39T IR,
(c) Tediuw 96 Shgwniga vewimsd frasvmien @atd 0 74qiel 5, 54,00,000 36! TR,
zﬁm q_qh ﬁa@T .

1) (@), (b), () Frum ara 3. (2) (a), (c) faum FFa smem,

(3) (a), (b) faur dFg A, (4)  (b), () foum ar= amea.

Read the following statements related with the maximum expenses allowed for any one
of the parliamentary constituencies under the conduct of Election Acts 1961 in India.

(a) Maximum limit of election expenses in any one of the Parliamentary Constituencies
is Rs. 70,00,000.

(b) In small states like Arunchal Pradesh, Goa, Sikkim maximum limit of the election
expenses is Rs. 56,00,000

(c)  All Union Territories including Delhi have maximum expenses limit of Rs. 54,00,000.
Choose the correct option :

(1) (a), (b), (c) statements are correct. (2) (a), (c) statements are correct,

(3) (a), (b} statements are correct. (4) (b), {c) statements are correct.
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42, HerSH AT 326 WY WASHTSA ATUEHRESHTd STaTd 1Y FHivd 37ed 7

(@) fam TEo (b) wIgE

(c) feamear (d) fag e T

(e) TATR IEIG ATd T

T T

(1) (a) (b), (c) (2) (b} (c) (@) (&) (3} (@) (b)(d) (4} {©), (d), (&)

Article 326 of the Constitution of India recommends following grounds for denial of right

to vote :

(a) non-residence (b) unsoundness of mind

(c) bankruptcy (d) record of crime

(e} name not appearing in voter’s list

Choose the correct option :

1) (@), (b) () (2) (b} (0) (d) (&) _(3) () (b) (d) 4) () (d) (®)
43. @ f9um v

(a) TIfasieTs SAa & ER e &1 wia w1 S et- e Qo Sl

(b) B TR Tifasfere Foo 150 S S T W & Hoan .

(c) ¥ &R W UGS 99 50 a8 gt s @

YS! FIVH fagH FOa 314 ? :

(1) (a) 30 (b) (2)  (b) e (c) (3) (o) T (a) @) (), (b) 3 (c)

Consider the following statements :

(a) Savitribai Jyotirao Phule Puraskar (award) is given to men and women contributing

significantly to the education field.
(b) This award was started on the occasion of the 150t" Birth anniversary of Savitribai
Phule.

(¢}  The minimum age required to get this award is 50 years.

Which of the above statements are true ?

(1) (a)and (b) (2)  (b) and () (3)  (c) and (a) (4)  (a), (b) and ()
44, TEIBIH HM faum 9 AR ?

(a) =1 FoA9l UA Trae 1 § 12 § 18 99=t O %haes e/afeaiaEa a1y Irhar.

(by = FEUei ‘S SHEe 3 ° hees fali RN SHan.

i 39

(1) WF (a) (2) FF (b) (3) < (4) ==

Which of the following statements is correct ?

(@)  The films with certificate UA can be seen by children between 12 and 18 age groups
only under parental guidance.

(b)  The films with certificate 'S” are meant for specialised audience.

Answer options :
(1) Only (a) {2) Only (b) (3) Neither (4) Both
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45. GO IR 98
(a) e foew sifim 2001 W GE Foam o1,
(b) T@ foren sAfvmmran T IRW 80% TG FIW 7 AR,
(c) ‘e foema 7o it qat JiATdie awEad W& ®TeT’ 3Rl wd e sfiEmrn w=w
3Te.
HIUE! faH FE R ?
M @3 H (@ @A @) @ (@) () b))
Consider the following statements :
(a) Sarva Shiksha Abhiyan (55A) was launched in 2001.

(b) One of the goals of S5A 1is to achieve 80% enrolement.

(¢} Another goal of SSA is to bridge the gap between boys and girls in elementary
education.

Which of the statements are true ?
(1) (a) and (b) (2) (b)and (0) (3) (a) and () (4} (), (b) and (c)

46, TEI® faum o
(a) YR Tfeen TP BEWA (NFIW) 8 Seea IR Sraam) Arasfar; 95Tl defid 37,
(b) AFS IRAE BihwE dfeel G2 (AIDWA) & S92 WRAE SrErE Jeen Jeaid

IR,
qrg i e
(1) (a), (b) T Taum 4 e, (2) (a) faum I R,
3) (b) faum 9 ang. 4) (), (b) T ST e

Read the following statements :

(a) National Federation of Indian Women (NFIW) is associated with Communist Party
of India {Marxist) CP1 (M}

(b)  All India Democratic Women'’s Association (AIDWA) is associated with Communist
Party of India CPI.

Choose the correct option :
(1) ({a), (b) both statements are correct. (2) (a) statement is correct.

{3) (b) statement is correct. (4) (a), (b) both are incorrect.
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47, 9 Tergv AR geuafeud aaer faagor sftr frereguehia |gwr (SVEEPR) SThHmE
RIS IRV FRHIE GG FEl 7
(a) TEGHIE o A,
(b) YEE fITEER WeE.
(c) T HAER foq HIo HT0.
(d) PRI A HEeAl, WHRATEH Hye1 I wew.
(€) TEA MY To4 TSR HAEFFA il s 0.
(fy Trre @Ra TRER Evarsdd arEEo.

T I
D @), O) @ @ (© D (b)) (@) @
5 G W6, @0

Systernatic Voter’s Education and Electoral Participation (SVEEP) initiative by Election
ommission of India includes which of the following activities ?

a) Voters behaviour survey

g Collaboration with Government Departments

c) Celebrating National Voters Day

d) Coliaboration with CSOs, Media organisations

e) Identification of Nation and state Icons

Ef) Streamlining quick declaration of the results

Answer options :

(1) __(a). (b), (c), (d) (e} 22; gb;, (cg, (d), (eg :

(3) () (d) (e) 4) (a) (b), (), (A), (&), ()

48. UESUH! HIod faur T ed ?

(a) FEFTHR TEW@ AN FH V9 FHO AT 3o F,

(b) wifod e8] wara AETeas fad Ay sTHd.

(c) WIFTEHL TFHI 30 HIH A

(d) T T FEHATS ST HEAw.

() U HEH HESHIS STHAE, (SFE 4 T5HHW 3)

(f) TF Wi HHRHR

(g) T TN HISHA HIE Ffeamyd

(h) T faemdis e{sH WA

gaidt a9y

(1) (c) 7 (e) 2) (@ (3) (6 T (h) (4) (g)

Which of the following statements are not correct ?

(a) Press Council of India acts as a watch dog of the press.

(b}  Chairman of the council is a retired judge of the Supreme Court of India.
(c)  The council has 30 members.

(d) Twenty are from the newspaper world.

(e} Seven are from the Parliament (Loksabha 4 and Rajya 3).

(f)  One from Sahitya Akademi.

(g) One from Bar Council of India.

(h)  One from University Grants Commission.

Answer options :

(1) (c) and (e) (2) () (3) (f) and (h) 4) (8
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49, AT e {m are fawsm Fvamas @i Soed aftde frerediemed
@i e fquriiet w@ @Y 3 ?
(a) o THVIA0 HEIAT Wl 5 79, éﬁawﬁaﬁwmwmﬁvw STHA e,
(b) Eo Har 7 FeR FIRL FMeH T TR HGEHIS T &9 FH FHJa,
gt 3av
(1) FF () ) w® (b) (3) e T (4) TR
Which of the following two statements about recommendations of the Committee set up

to analyse vacancies in the professional courses is correct ?
{(a) Don't permit new technical institutes, only allow increase of intake in the existing

colleges.
(b)  Reduce intake in MBA courses but for in Hotel Management and catering Technology
courses.
Answer options :
(1)  Only (a) {2)  Only (b} (3)  Neither (4) Both
50. WO U™ g8

(a) HETh{d FOH Hihd WY (SR HEY THAI0E Wepnd foft feen st @ feaw g3
dtfoien Ted

(b) Eyl TERIYA A A HRRPERTS UF 7991 TH 18 SN T {58 .
SRIeTR! B! fagr swET oea ?
wafH T
(1) % (a) (2) H® (b) (3) UHE A (4) TEE
Consider the following statements :
(a) The Government of Maharashtra gives Mahakavi Kalidas Sanskrit Sadhana Puraskar
{award) on Sanskrit Day which falls on Buddha Purnima.
(b) In all eight awards seven awards to persons from Maharashtra and one award to a
person from outside Maharashtra are given.
Which of the above statements are correct ?
Answer options :
(1) Only (a) (2) Only (b) (3) Neither (4) Both
51. e ¥Edl (Community Radio - o) fawdt qdiwtst wvm faum gate om ﬁ .
(1) FMIf T & CRY S99 U9 43 41 b= J9 3.

(2) CR TS 991 U1 YOS HHERITETE!, T GEiAT =60 THRNT HeWTl SEd 5

THF A ANEION TR FO I,
(3) T FHt famdie, Fft faam o amifor geenfyq Rarfore Hear CR Fgidme] 19 & .
(4) =@ TFE L

Which of the following statements about Community Radio (CR) is wrongly stated ?

(1) CR transmitters are very low power transmitters compared to FM.

(2) CR means radio broadcasting with the objective of serving the cause of the
community in the service arca by involving members of the community in the
broadcasting of the programme.

(3) State Agricultural Universities, Krishi Vigyan Kendras and well established
Educational Institution can apply for CR station.

{4} __None of the above.
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52. 2001 ¥l FENEE SehET= AaEREH afidea @, @gevln weladat s faum stE
&R ?
(a) STTYfaa ST ST Seevard STei.
(b) TIYId SHTRLA TR ARAVIT HATel.
(c) STTgf=d Siohtar ST deesTd Tfeedl.
(d) ergfea TR ST daedrd Tfged.
()  STTHfad SIS T H{vaw el
(f) STIgfEd SR S HHT 0 S,
LR RIDRECEE
1) @af@ (2 GAiEe @ @a@H (@) ()
Which of the following statements are correct regarding delimitation of Lok Sabha
Constituencies in Maharashtra done after 2001 ?
(a) Seats for Scheduled Castes were increased.
(b)  Seats for Scheduled Tribes were increased.
(c} Seats for Scheduled Castes remained the same.
(d) Seats for Scheduled Tribes remained the same.
(e}  Seats for Scheduled Castes were decreased.

Seats for Scheduled Tribes were decreased.

Choose the correct option :
1) @and(d ) GandE () @and® @ (0 and(d)

53. wRarA Used oNftl fraevE sfiermd 1967 ® 94 Hem ge’ ArvaE o R

(a) 1967 =T Fraeuml+a wiTy Fara aw TEet 7y FH 9gHar s sTe T |
T,

(b)y ‘FaEiehe’ e e 3few i e AW qRvIE 9e.

(c) WRET=A FEATATHRIE FH0EE B S e a0 Al AHSes A1 e qidies qoe
ElEE

it 3

1) (a), (b), (c) Taur a7 smea.

(2) (a), (b) faum i s

(3)  (a) (c) faem =g e,

@) (b), (c) faum A 3rrEd,

11;he year 1967 is considered as a landmark year in India’s political and electoral history.

ecause :

{a)  After 1967 elections the Congress retained power at the centre but with reduced
majority and lost power in many states.

{b) Tensions started increasing between ‘Syndicate’ Group and Indira Gandhi Group.

(c) The appointment of Chief Justice of India became controversial and tensions between
Judiciary and Government increased.

Answer options :

(1) (a), (b), (c} statements are correct.
(7) (a) (h) statements_are correct.

(3) (a), (c) statements are correct.
(4) (b), {c) statements are correct.
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54. WO faum uE
(a) RATA FIEEUE ST HeRIETS 6 T&TT Senfen O&1 vev AT faei oTe.
(b) TSI ST GEITUTH Tl ST HIoHE Tafiean TE STe@ Uod TaF T Aeredl

AR STUTRE ST,
FSIHT wr/d faumA ateT o6 ?
(1) W% (a) (2) T (b)
(3) (a) 0 (b) A= 4) () e (b) 2= A

Consider the following statements :

(a) The Election Commission of India has recognised 6 parties as Local Parties in
Maharashtra.

(b)  Extent of time available for political broadcasts on Doordarshan depends on a party’s
recognition as a national or a state party.

Which of the statements is/are correct ?

(1) Only (a) (2}  Only (b)

(3) Both (a) and (b) (4) Neither (a) nor {b)

55. 'U& Ve de (WATER) | A e SIS AT ST enfur frrvar e gurvamat
HAreiaL did Tfgeen garereiTda, arsreafasiaa ymmm fRETEmaet snfor g I= fhermdie
TEAIEUT HEl eiavaHE! §% Hvam doedl fie .

(1) e (2) ‘fen’ (3) ‘wmE’ (4) ‘g’

One stop Educational Portal dedicated to the nation for enhancing teaching and learning
for citizens of the country, reaching to hitherto deprived sections and rural/under
developed areas and helping in raising the General Enrolment Ratio (GER) in higher

education is called as :
(1) ‘Sakshar’ (2) ’Shiksha’ (3) ‘Sakshat’ (4) ‘Sashakt’

i

56. 1990 A% Wifgdren ATTHR Feodes G& Aot wied! .
(1) wogt fhum oo gee
(2)  HSIgL KT IRB1 HET
3y =gy farT gfaes dee
(4) WEIgY fFEE THI dEA
Movement for Right to Information started in 1990, when organisation demanded
records of famine relief work and accounts of labourers in Rajasthan.
(1) Mazdoor Kisan Sangharsh Sangathan
(2) Mazdoor Kamgar Shakti Sangathan

)
{3) Mazdoor Kisan Shramik Sangathan
(4) Mazdoor Kisan Shakti Sangathan

FHeeAT HIEEE WA / SPACE FOR ROUGH WORK
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57. RevAfaydt Eie faurt arn onfor @i g faum Sow 9 |

(a) o FgaF fawr (DCD) 2001 H&3 €U FT0IT .

(b) W Gl oo W ITHH WEEe YARY E i Hehien faum wu[ o
fass! wem 7 faum =@ F@.

(c) bIoAbIdic Gevee, G SNTur Qi w6l ArAmThs gUraaamiE o9 TeEevar
HMW ‘LY oAl Foe’ wd AR

(d) el GERNT ARG flow HOf sEre 2004 A=,

() ¥ TR fafey afemfE sy fom s,

(f) o [EER Faey Sedien sEfiyses ke S,

ugigt e

1) (@) (@ (e (2) (e) (3)  {d) (e}, () @) 6

Which statements about Doordarshan are incorrect ?

(a) Development Communication Division (DCD) was established in 2001.

(b) It functions as a single window marketing division and production house for
Government ministries and PSUs.

(c) ‘Doordarshan kalyani clubs’ are taking the television messages further through
interpersonal communication and social activism.

(d) Kalyani campaign bagged prestigious Gates Malaria Award 2004.

{e) The award is given by the British Broadcasting corporation.

(t)  The award is given by the Commonwealth Broadcasting Association

Answer options :

1) (@) (o) (e) 2) (e 3) @) fe) 4 ®
58. WIGIGUS! RV &b Faeqe WHIGS Y3 FLOT Hald HEaT=a T8 Joedl ?

(a) & ST (b) wfifer zmR

(c) ST W (d) oTHIE e

() WWWE 6 e daE

T gty e

1) (a), (d) & (e) ) (b), () @fin ()

(3)  (a), (b) SO () (4)  (d), (e) v (f)

Who from among the following were NOT the Chairpersons of the Central Board of Film
Certification ?

{a) Shabana Azmi {b) Sharmila Tagore
(c)  Anupam Kher (d) Amol Palekar

(e) Mahesh Bhatt (f) Leela Samson
Choose the correct option :

(1) _(2), (d) and (e} (2) (b, (c) and (f)
(3) (a). (b} and () (4)  (d). (e) and (f)
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59. wd foren AIfm@m (S5A) Syt Yeie faum aren suftr wnfawt g4 faum (@ faumig .
(1) fog=n Sfusr Freemn Sveasmaris § T9E 96T AR A0 8 9 @WErE S e g9t

el 3UHH L.

(2) @ AfvyEm Tafavar qeren 3 AT, meatts wiftn 3= foaondte srfse o fomer
ST T8 HET HI0 7@ I,

(3) SC/ST A qftem SfeqsEAls TN Saitd Hor s 76 armadd e st
e wad FW AT AR

(4) umed siffesd (Autism) S A Fans geard ar|satd fremren yfasomras goEw
FLOIN A L.

Read the following statemnents about Sarva Sikhsha Abhiyan (SSA} and find out the wrong

statement about it :

(1) It is the main vehicle for implementation of the Right to Education Act and it is one
of the largest programme of its kind in the world.

{2) It has been implemented in order to narrow down gender and social gaps in
elementary, secondary and higher education.

(3) Special efforts have been made to reach out to girls and children belonging to SC/ST
and Muslim minority communities.

(4) Tt also involves teacher training on Autism and therapeutic support.

60. YRATIS IO HaeH dAGadl (EVMs) JeTo faum s snfn @it ava faum fae

(a) EVMs T& s WdgM M0 Adgdhs dead QU TR HIGUTYHIONER HHl H0 I
3TTE.

(b)  HASHNERI gdida AfiaR SIw EVMs 3 sTeee dredm.

(c) WAGEARfFER Teaidan EVMs 1 -39 &0 go gov IR,

(d) 2004 =1 FAHIURY THEERTET YA 3-SR aE g8 Aol

it e

1 @0 @ b (3) (@) () () 4) @@«

What is correct about Electronic Voting Machines (EVMs) in India ?

(a) Bogus voting and booth capturing can be greatly reduced by the use of EVMs.

{b) Iliterate people find EVMs difficult than ballot paper system.

{c) EVMs are easier to transport compared to ballot boxes.

{d) India turned into an e-democracy in General Election 2004.

Answer options :

1) @G @ (b)@d (3) (@ (b) (c) 4) (@) (o) (d)
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61. TG T fauFids! HIvK T 1L ?
(@) T 1964 WIS Fw Foedl RioaR SEFTH Wem 15 aui=1 BRadd Ssaeshatsted
et e,

() et o gl wafae 3 T (i)  AHTE G AT = A
(iify weat fneror i et
(b) . TETE NIFWE ARH fqadie WHE saEEE RIened s
it 3
(1) &% () (2) &% (b) (3) wHE (4) <R
Which of the following two statements is correct ?

(a) The Mudaliar Commission appointed in 1964 recommended the three tier educational
pattern of first 15 years.

(i} Ito X - Primary and Secondary (if) XIand XII - Higher Secondary
(i} Degree Education - 3 Years

(b) Dr. Sarvapalli Radhakrishnan Commission made recommendations regarding

University level education
Answer options :

(1} Only (a) (2)  Only (b) (3) Neither (4) Both

62. WP@Ih! HIU! e SR 38a ?
(a) TEI YA Haid S FTh Y g,
(b) WISl HaiG Ufee o ‘g’ g 2.
(c) ‘=i TANR € AR WhHed SR Taid 94 SdATas 3T,
(d) WA WING YRV Tee Haid ufgd Suars  geeEn 3o’ ¥ 2.
arg At faer
(1) () 30T (b) (2)  (b) = () (3) () v (d) (4) (a) T (d)
Which of the following statements are true ?
(a) The largest number of dailies are published from Madhya Pradesh.
(b) The first Marathi daily was ‘Darpan’.
(c) Bombay Samachar is the oldest existing newspaper.

(d) The first newspaper published in an Indian language was ‘Samachar Darpan’.
Choose the correct option :

(1) (a) and (b) {2) (b) and (c) (3) (c) and (d) (4) (a) and (d)

THoedT HIUTETE FAT / SPACE FOR ROUGH WORK

P.T.O.


Admin
Line

Admin
Line


104

63.

32 A

2009 = WeRTe fouray Masvwivel, Gdio Tosg 99! 9a9ia S @ Taid w1 gt
THAR], AFHRT W U Fed™, TIST@UH! Hivdl T T 33 ?

(1) TEE T8 HIUF (INC), TaR! S 98 (NCP), fradm ($s), Tt siear wiéf (B]P)
(2) NCP, ING, BJP, S5
(3) INC, NCP, BJP, S5
(4) INC, SS, NCP, BJP

If following political parties are to be arranged, based on their vote share in the 2009
Maharashtra Legislative Assembly Elections, from the highest to the lowest, which is the
correct option ?

(1}  Indian National Congress (INC), Nationalist Congress Party (NCIP), Shivsena (SS},
Bhartiya Janata Party (BJP)

(2) NCP, INC, BJP, SS

(3) INC, NCP, BJP, SS

(4) INC, SS, NCP, BJP

64. 2009 =T HeRY fagay g deuld, WY I nHie Meow Sri= Seeier WY [ 9497

T qafi= Siee oo,
1 T 19 uel II

(a) TSR FEW 98 G) 46

(b) URE T W () 62

(c) I SHaT T8 (i) 82

(d) Torerge (iv) 44

qrg Wi et
(@ (b) () (d)

(1) @) () Gv) ()

(2)  (ui) () @) @)

@) @@ @Gy @ (@)

4) @) () (iv) (i)

Match the number of seats won in the State Assembly elections in Maharashtra in 2009
given in column II with the parties in column L.

I Political Party II
(a) Nationalist Congress Party iy 46
(b) Indian National Congress (i) 62
(c) Bhartiya Janata Party (i) 82
(d) Shivsena (iv) 44
Choose the correct option :

@ ®) © (@
® @ @ @
(2) (i) (i) (@) (i)
() (@@ (@) @ (i)
(4) O ) Qv) (i)
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65. 2014 1ull, YNHHE faevE SR SIEEURT RO GEET HERIEE THT 781 WO AT (G
HE?

(ay URT FHAR 98 (b) ferE (c) WENIY TarHm d
(d) S HUE 94 (e) HRETT R Ty

g wai fae

(1) (a), (b) 3 () ) (a) (b) (0) M (e)

(3)  (b), (d) (O (e) @ (b) 3l ()

Which of the following are recognised as State Parties in Maharashtra by the Flection
Commission of India in 2014 ?

(a) TPeasants and Workers Party (b) Shivsena

(c) Maharashtra Navnirman Sena (d) Jan Surajya Party
(e) Communist Party of India

Choose the correct option :

(1) (@) (b)and () (2) (@) (b) () and (e)

() (b), (d) and (e) ) (b)and (©

66. Y@ faum A yr wiEd fawet | faue free,
(a) A% @R Hees .
(b) 1977 B¥d YER YR TI9 A,
() STHRETH, TR M FM 2 FHRYREAT SIHAw {9 92 970 o
i I
1y (a) (b), () (2 (a) (3) (o) SO (b) (4) (a) 30T (b)
Read the following statements and select correct statements about ‘Prasar Bharathi’ :
(a} Ttisa statutory autonomous body.

(b) It came into existence in the year 1977.

{c)  All India Radio, Doordarshan and FM stations became constituents of Prasar Bharati
after its establishment.

Answer options :

(1) @ (b) () 2) () (3)  (c) and (b) (4)  (a) and (b)
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67. TSI FHIo faum sHET e ?

(a) AT AT IR FERIE Yer freror g wfidt sufor wayr frisor wfivdtt
TTHT e, |

(b) vaw Frasm dfidine TF 99w IR AFSUEE STHEd.

() TaY Y&k G U 9o faemdfie $ome Stam.

(d) veiF ditdta 5 Ja7 St Wew o7 7.

T yatg faer

(1) (a) 3 (b) (2)  (b) 3T (c) (3) ()3 (d) 4) (a) & (d)

Which of the following statements are true ?

(a) Maharashtra Government has set up Shikshan Shulka Samiti and Pravesh Niyantran
Samiti (Admission Coordination Committee) as per the directions of the Supreme
Court.

(b) There must be one Chartered Accountant as a member on the Pravesh Niyantran
Samiti. '

{c) One member of Pravesh Shulka Samiti must be a Vice-Chancellor of a University.

(d} There should not be more than 5§ members in a Samiti.

Choose the correct option :
(1) (a) and (b) (2) (b)and () (3) (c)and (d) 4) (@ and(d)

68. WHABUR! hivE! faur arae 2NRq ?
(a) TraevE F@FH UER S q@re 2007 Rl TP T4 WU[E Fr4ad Qo
(b) TET S SO AT SRS = el foer, gRa@S, AU suftn fHaRmYa *el.
(c) Fracy® ST Sde S g, T Ao PSR TP Sl 50 FE TS

.
(d) VH.Z. o UFY UL HUE AWSS Il 2010 T E© HSL
ag 93ty e
(1) %% (a) (2) WE (a) O (b)
(3) {(a), (b) I (c) (4) e ud faam

State which of the following statements are false :

(a) Rashtriya Janata Dal was recognised as a National Party by the Election Commission
in 2007.

b) It fulfilled the conditions set therefor from Bihar, Jharkhand, Manipur and Mizoram.

c) It failed to fulfil the conditions set by the EC in the subsequent elections.

d) Its recognition as the National Party was withdrawn in 2010.

Choose the correct option :

(1) Only (a) (2) Only () and (b)

3) {a), (b)and (c) (4) All the four statements

— e —
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69. TEIBYE! HIK TATE TAE Al T qUH R

(a) TTEA A WA Fiehis ga (by ToaEau™ AfHeTHIHE
() Terdsam e (d) TSI FEHT AEan
Taiet I

(1) (@) (b} () (d) 2 (@) () (d)

3) (@) (®) (© @ (@ (o) ()

Which of the following options describe functions of pressure group ?

(a) Linkage between government and masses (b} Interest articulation

(c) Interest aggregation {d) Enhancing Political Participation
Answer options :

1) (@) (b), (9) (d) (2) (), (b), (d)

3 @ b)) 4 @ (9 @)

70. TRNERS 'Tfed tut’ fawi g faum ag antet gt f9um S d |,
(1) 3fed TeR & gfoq gamiE B quel o
(2) T TERIEE 1972 WIS TG .
(3) WHEH e Yol anftr el siEifiew s @ wd vifve s Teibe sfeardt deem
Figo) Mo S e T2 et € Yur danftw wrdwnutn e,
(4) 1975 T HENPH <fed Yo FasuEm seaed.
What is incorrect about Dalit Panther in Maharashtra ?
(1) Dalit Panther is a militant organisation of the Dalit youth.
(2) It was established in Maharashtra in 1972.

(3) The larger ideological agenda of the panthers was to abolish the caste system and to
build an organisation of all oppressed sections like landless poor peasants and urban
industrial workers along with Dalits.

(4) Dalit Panther contested elections in Maharashtra after 1975.
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71.

36

TET TS GUROT AR S7¥i frema Fo0 R, F TR YEEE G YR i
O e G . ¥ 3TRd ¢

A

(a) TR 9fug (b) TR wiem

(¢) T Wie (d) &5 wfen

Tgiet T

(1) (@ 3@ (2) @ B3 @) ()M @) @) () b))

The Second Administrative Reforms Commission recommended, three tier structure of
Administration in Urban Local Governarnce, except in the case of a Town Panchayat. The
institutions are :

(a)
(©

Answer options :

Town Committees

(b)
(d)

Municipal Council

Ward Committees Area Committees

1)y (@ (@and(d) (2) (@, (band(c) (3) (b), (©and (d) (4) (a), (b)and (d)
72. 1994 TaT, Taa Wil (He YOrd) # sleget 9d et ?

T q1T4q

(a) ARH () &g i

(b) W& HeW (i) STT9E T

(c) wiferg (iti) He® gETEd

(d) HT AT ¥R (iv) eEd €
@ & (@

1 @ @) @y (iv)

2 @ @ O @

@) (i) @) @ 6

@) O @ ) i

In pre-1994 days, the Panchayat Samiti (Middle Panchayat) was known as :

State Name

(a} Karnataka (i) Kshetriva Samiti

(b} Madhya Pradesh (i) Janpad Panchayat

(¢) Tamil Nadu (i) Mandal Panchayat

(d) Jammu and Kashmir (iv) Panchayat Sangh
(@ (b) (g (d)

1 @ G @ )

() @) @) @ )

(3) (i) Gy () ()

4 @ @ @) ()
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73. T -9mEA dimsiaria §-dard ® A O yeeaie! U BUH SeEe SN, A1 Yaedr
Ect i
(a) daTEG wERASTETa HIUR .
(b) TS FeEem giFda misd dTIFTET IR S gErEdi 9
(c) Tfedt- A TROTHERE A0S BT 95H HI0.
(d) He AR HENT= RTINS TR v,

gt 39
(1) (a), (b) S (c) (2) (a), (b) 30T (d)
(3)  (b), () & (d) @) () O), (c) ¥fT (d)

E-Panchyat has been indentified as one of the Mission Mode Projects (MMPs) under the
National e-Governance Programme. This project aims :

(a) Internally computerize the Panchyat Process

(b) To enable Panchayat to make effective use of IT in the process of planning at grass
root level.

(¢) To enable the people to effectively use the IT

(d) To bring about transparency in the working of all the Panchayat Raj Institutions.
Answer options :

(1) (a), (b) and (c) (2) (a), (b) and ()

(3) () (© and (d) (4) (), (), (c) and (d)

74. TEI TH fauHits! FHvR @Y TR ?
(a) 9 Fragum R &M snf @it FHague yhhw Jae! siddeed g anfr

savas 4t w5 qfaR,

(by foeer oftag @ Yo wivdr=n fase fSefusrt w1 faeus smrme=n sfaremaet
Bam.

et 39

(1) W (a) (2) wH (b) (3) TR 4) <=

Which of the two statements given below is correct ?

(a) State Govt. provides budgetary support and required funds for the functioning of
the State Election Commission and its election process.

(b) Elections to the Zilla Parishads and Panchayat Samitis are conducted by the District
Collectors under the supervision of the State Election Commission.

Answer options :
(I)  Only (a) (2)  Only (b) (3) Neither (4) Both
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75. IO T 73 N1 WAl SENIAE aigardrgd 2 SUATd Siel 31 ?

(a) Torsim (b) TeEa

(c) e (d) STEUTES WeN

Taiet 39

(1} % (a), (b), () (2) P (b), (c), (d)

(3) W (0), (d), (a) (4) ®F(d), @) (b)
Which states are exempted from the provisions of the 73rd Constitutional Amendment ?
(a} Mizoram (b) Meghalaya

{c} Nagaland (d} Arunachal Pradesh
Answer options :

(1)  Only (a), (b}, () (2) Only (b), (c), (d)

(3) Only (9) (d), (a) (4) Only (d), (a), (b)

76. eI M faumiist foQ 9ra g ?
(a) foefimgeds wF 93w e foast qrufes e dig! InUaE! sTHoed Wi giansd

AT W EF W9 AT FE R,
(b) TH e AfYE T THSIH § (G fEah S .
Wﬁfﬁ:
(1) *% () 2 () 3 @I 4) TER

Which one of the following two statements is correct ?

{a) Maximum of two questions distinguished by asterisk by the same legislative member
are placed on the list of questions for oral reply on any one day !

(b) Questions in excess of two are placed in the list of questions for the next day.

Answer options :
(1) Only (a) (2) (b (3) Neither (4) Both

77. WRNEE facs TRuSHRE] e & | I 9 Hafid! s ?
(a) foree ofiwg - siifgwmred
(b) foregr fawm gftag - dememed
() wEHmI IR - ufvem dmensd
Rt IO faur TErE oTea ?
(1) W (b) (2)  (b) 3 (c) (3) WK (c) (4) K (a)
The Zilla Parishad of Maharashtra is called :
(a) Zilla Parishad in Odisha.
(b)  District Development Council in Punjab
(c) Mahakama Council in West Bengal.

Which of the above statements are incorrect ?
(1) Only (b) () (Pand(@  (3) Only(q) (4) Only (a)
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78. Al THHHE GUR st ARy 4 38 ?

(1) S HEE € AeEATs WHfad Saeer) ST i1 G Hearen it
TR ATSTE.

(2) ST AR § T YS! WIS SregR STt ST Herieae Wearmst i
IR e,

(3) AT HoE & T 9 HEwEA SreiEiel Mgt Seeer! TdrE.

(4) U SAEEATYA § HETEATE Ui FEEER WE i fes yaeAs Yedrmst
{HehT TR TS,

What is the reccommendation of the Second Administrative Reforms Commission ?

(1) Disaster Management should be the primary responsibility of the Union Government
and the State Government shouid play a supportive role.

(2) Disaster Management should be the primary responsibility of the State Government
and the Union Government should play a supportive roie.

(3) Disaster Management should be the primary responsibility of both the State and the
Union Governments.

(4) Disaster Management should be the primary responsibility of the Union Government
and the District Administration should play a supportive role.

79. ' afqor & GfAUM TR FE SR @ SH e BRY wE] afusr T et ad wae vseue
R TaeaE 904 Tese &F UHhal' . E@ayE 9ide § faus o g ?
(1) TS FHd  (2) & A g () . sEEH (4) St S8R
Who stated in the Constituent Assembly that “A Governor can do a great deal of mischief
if he is a bad Governor, inspite of the very little power given to him under the Constitution,
we are framing’ ?
(1) M. V. Kamath (2) K. M. Munshi
(3) Dr. Ambedkar (4) B. G. Kher

80. 1984 WX fieRr faSHI=AT el g RO TfTd™ TS HIOE Y1 Fed g ?
(a) T UwmeaR fadfga FEmm,
(b) Toeafasmrai=an sfyTeamEe @daa faeg e e
(c) Toeefusrl &1 ga=E® Q[ JarEdr SR o stamE.
(d) TSreg arior foeere gt w9,
gt 9T ;
(1) (@), (b)) (2) (a), () 3 (d) (3) (a), (b) 3 (@) @) (b) ()N (q)

Which of the following suggestions, Hanumanth Rao Committee made on District Planning
in 1984.

{a) Decentralised Planning at district level.

(b) Separate District Planning bodies under Collector.

(c}  Collector should be associated with Panchayat bodies as a Coordinator.
(d) Establishment of District Rural Development Agencies (DRDA).
Answer options :

1) @ {eand() (2) (@), ()and(d) @) () (b)and(d 4 ®) ()and(d)

Tl HRIMETE! SR / SPACE FOR ROUGH WORK

P.T.O.


Admin
Line

Admin
Line

Admin
Line


104 40
81. Sl o
IAJ IB!
(@) e wifdt (i 11 &=
(by et wfa (i) 8§ He=
(c) Torew it (iti) 10 W™
(d) ¥ Fweary aftdt (ivi 13 \ed
@@ (b) (o) (d)
1) @ @) ()
() (iv) () (@ 3
G) (w) @ (@) (0
(4) (v) @) @) ()
Match the pairs :
IAI IBI
(a} Standing Committee (i) 11 members
(b) Agriculture Committee (it} 8 members
(c)  Education Comunittee (ili) 10 members
{d} Social Welfare Committee {(iv) 13 members
(@) (b) () (d)
1 O Gy @) v)
(2) (v) (1) (1 (D)
G) (v () G @)
(4)  (iv) (i) (i) @)
82, U Harodloardl & F1 o1
(a) WAt At wet 3o
by Tauria foeq FaragR Fd sTTEsSET TIHo,
(¢) TaT= SIS TaR FHLl,
(d) Tawria sfgerianieEt Sararda Jieemt HE6Hn A-itad F,
atat Iy
U @, (b) AT () (2)  (b), (c) M (d)
(3) (@), (b) AT (d) (4) @ (b), (o) 0¥l ()

The major functions of a state directorate are :

(a)
(b)
(€)
(d)

(1)
(3)

To provide technical advice to the ministers.

To inspect implementation of work by the departmental district staff.
To prepare the budget of the department.

To organise in-service training programmes for departmental officers.
Answer options :

(a), (b) and (c) (2)  (b), (¢) and (d)

(@), (b) and (d) (4) (@), (b), (c) and (d)
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83. Siofa S anf= da1 ot g At dreds wRdie yereeE Sedte (T . ) stfasrar e
A Fge % IS T4, et e Fioft S 2
(1) I amam
(2) UTHEl hErd Sad A
(3) ufeaT yemEERT U ST
(4) SHY UNIEEE GUROT SR
Who recommended that no TAS officer should be posted as a District Collector unless he
has completed nine years of service ?
(1) Royal Commission
(2)  Fifth Central Pay Commission
(3) First Administrative Reforms Commission
(4) Second Administrative Reforms Commission

84. TogUIEi=A ATMWIOIER ==l FYeawEmEt faaw A few awen adel ¢

(a) Tadgs fhar fadasd wevart war faefauamE o fFa ohs wae s Ide
nfur a1y foael favers faean fataa Aisq T4,

(b) fagmEs wwade=n SfyuUIER ==l & FAgE e o ge = FIgE! S
WEUR g REES H A58,

I 3

(1) TauM (2) S AR TG (b) TH .

(2) faur (b) w0eR 9G () g5 2

(3) () S0 (b) I=T faum TR TR,

(4)  (a) ST (b) N Faur 9 s

Not withstanding that a day has been allotted for discussion on the Governor’s Address :

{a) a motion or motions for leave to introduce a Bill or Bills may be made and a Bill or
Bills may be introduced on such a day.

(b} other business of a formal character may be transacted on such a day before the
Assembly commenees or continues the discussion on the Address.

Answer options :

(1) The statement (a) is correct but (b) is not.
(2)  The statement (b) is correct but (a) is not.
(3) The statements (a) and (b) both are correct.

(4) The statements (a) and (b) both are incorrect.
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85. TAd WEWH U IR e ST T re qeaH9 WIGITIR! Hioed] Tod
ERIEER | CERERE R 1 s

(a) U= A TSt T

(b) O TS S HagvET 2

(c) T o AN w1 Y0

(dy Fegr arto faw g0t (DRDA) T

Tt I
(1) (a), (b) =M (q) (2) (a), (o) *nfor (4)
(3)  (a), (b) ¥ () @) (), (b), (c) 3N (d)

Evaluation of a state under Panchayat Empowerment and Accountability Incentive Scheme
(PEAIS) is based on following fundamental constitutional requirements :

(a) Establishment of state Election Commission

(b) Holding of elections to the PRis.

(c} Setting up State Finance Commission.

(d) Constitution of the District Rural Development Agencies (DRDA)
Answer options :

(1) (a), (b) and (d) ) (a) {©) and (d)

(3) (), (b) and (c) (4) (2}, (b), (c) and (d)

86. TEFTRQf@RAuiiycwd AmfdyHmEc st agas faam fasmaa =

(a) TRUTGH TTea dUs FGuHEl UM fFAR 5 autd o vE

(b) TFHSIFHCAUHR] Hoe=1 HYHG WYF 5 a9 ST34a

(c) 5 TN FHH AT FIAHEE UIfed TowI@THl 9

(d) T AR e AfusR B[ 5 w6 T

et BN faem s T ?

(1) (a) w (2} () Fe (3) (d) FE (4) SR THE TRI
Consider the following statements regarding the qualifications for nomiration to municipal
corporation/council :

(a) At least 5 years experience as a medical professional in the municipal hospital.
(b) At least 5 vears experience as a member of social welfare organisation.

(c) At least 5 years experience as a member of municipal council.

(d) At least 5 years experience as a Chief Officer of Municipal Council.

Which of the above statements is NOT true ?

(1) (a)only (2) (9 only

(3} (d) only (4)__None of the above
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87. TUFUYNE SR REWTE HIHEN G A SO a0 9@ YT 0 A
AR ?
(1) TR YEed TF 9™
(2) YHaRd Yerdd g ™
(3) WHAE Y& A TH
(4) YRR Veed EE T™

Which day and time is allotted for transaction of private members business in the Legislative
Assembly ?

(1) The last two hours on Monday

(2) The last two hours on Friday

(3) The last two and a half hours on Monday

(4) The last two and a half hours on Friday

88. W faud fo=ma =

(a) UETEG Wi QUG AfSvard 3 HSR HAUAE! fohdl SgHd @AM § S99 8
3T =71 I8y 9 ForianEt § ve U 398 T8 F9a1 e aeR ATogT 9.

(b) e Wi ARSWES wEE e anTH favg sfavas S0 S Svame! €
Aty SgHArd ATl 3T,

i Iy

(1) f39M (a) U, (b) TH TR

(2) faud (a) THH, (b) AR MR

(3) ol fauw & o

(4) S faurd e .

Consider the following statements :

(a) The majority required to pass a no confidence motion against Sabhapati of a
Panchayat Samiti varies depending upon whether the incumbent is a male or a
female and whether the vacancy is reserved for women.

() To pass a no - confidence motion against a female Sabhapati of a Panchayat Samiti
reserved for women 2/3 majority is necessary.

Answer options :

(1) statement (a) is correct but (b} is incorrect.
(2) statement (a) is incorrect but (b} is correct.
(3}  Both the statements are incorrect.

(4) Both the statements are correct.
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89. W faur fa=mE =

() TFel # Faeus s gF F6 #, 39 ey feaeus FraR aafaeame! fHa
ToqH fragym Saret fague stfrarre FEw ?F wwd

(b) = AR WH TaEdr fagus e 9iftd Foar I 99 o Haeve sifusram

1w <= whdl.
i 39T ;
(1) Taum (a) 50, (b) TP (2) faum (a) g1, (b) FH
(3) = faum admT (4) <rd faum 9@

Consider the following statements :

(a)  Once the election process of Gram Panchayat is started, High Court shall not direct
the Election Officer to stop the election procedure or to conduct fresh election.

(b) High Court can direct the Election Officer not to declare elction resuits of the Gram
Panchayat.

Answer options :

(1) Statement (a} is correct, (b} is incorrect
(2} Statement (a) is incorrect (b) is correct
(3) Both the statements are correct

{4} Both the statements are incorrect

90. TaEd U% I GE FRiER 9 e wReeen wEur foes Taete] surfig e a7eft
RIFRE TOToiE FUH Hio H ?
(1) ST FHEmA
(2) SEAUE Hedl GikdH
(3) e yeITE GHRT AEH
(4) T WUTEEH GURON SETH

Who recommended for the first time from amongst the following that the main executive
organ of the Panchayati Raj system should be at the district level in the form of Zilla

Parishad.

(1) Sarkaria Commission

(2) Balwantrai Mehata Committee

{(3) First Administrative Reforms Commission
{4) Second Administrative Reforms Commission
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91, wIIETEEgE ATV T&E A AT TgHT ¥ Heaedn §5d el TE @ RIotH w1
G

(1)  SHfoveTaTET TR 151 el Afe-arean S7a S7orr A,

(2) SAfovaTETET TWTE I SV 49

(3) UF AR E GEATIES IfATATE=1 T&lrd wigar dar.
(4) U f9aTg 315 39 <Aeard 9k Y A4l

When a no confidence motion against a Sarpanch is not passed with two thirds majority
then what is possible ?

(1) No confidence motion can to be reintroduced within six months.
(2) No confidence motion cannot be reintroduced.

{3) No confidence motion can be reintroduced against the same Sarpanch after a year.
(4) Sarpanch can file a petition in the High court.

92, wgmEEEM faum uftad=n Weuls oo faum faenm =.
(a) FHRETHR! TUHE TR THY GUINE Hee (T S0Y) 3Tavds 379,
(b) FTHHSERT TUHET 12 (WR]) FUEE 379,
Tt I
(1) faum (a) 9, (b) 3@
(2) faum (a) 15, (b) 94
(3) < faum 9=
(4) <=l faum sy

Consider the following statements with regard to the Legislative Council of
Maharashtra :

(a) Quorum for the transaction of business is (one - tenth) of the total membership of
the House.

(b} Quorum for the transaction of business is 12 (twelve) members .
Answer options :

(1) Statement (a) is true (b) is false

(2) Statement (a) is false (b) is true

(3) Both the statements are true

{4) Both the statements are false
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93.

94.

46 A

faur gitwea fagrmfiamrar yev Sufterd wvvara sifyer e felum s o
(a) UeI Sewhid aF Y AU Yy Ifeerm FT0a@ F0TR A,

(b) W Yehedrd HEocdl THE FRiqEE Tk w9,

it I

(1) foum (a) TR o WY (b) T IR

(2) faum (b) T TG (a) T .

(3)  (a) 3T (b) S faum g 1w,

(4) () JM (b) IR FauM SR A

The right to raise a question of privilege in the Legislative Council shall be subjected to the
following restrictions :

{a) not more than two questions shall be raised in the same sitting.
(b} the question shall be restricted to a specific matter of recent occurrence.
Answer options :

(I} The statement (a) is correct, but (b) is not.

(2) The statement (b) is correct, but (a) is not.

(3) The statements (a) and (b) both are incorrect.
(4) The statements (a) and (b) both are correct.
wee 2 T iU faum ana o ?

(a) TwgUTedt Whe Se) ATUSR WH fquas TaHRea .

(b) THUOM Wihe =Rel AMuATH] HHFR AT 156 WS W& AR,

et 3

(1} = (a) (2) WK (b) (3) RE R (4)
Which of the following two statements is correct ?

(@) The power of 'Pocket Veto” that the Governor weilds is to negate a bill of the
Government.

(b)  The Governor has the power to use “Pocket Veto” under Article 156.
Answer options :

(1) only (a) (2)  only (b) (3)  Neither (4) Both

el FTETE AT / SPACE FOR ROUGH WORK


Admin
Line

Admin
Line


A 47 104

95, T fratas s enfn defyg seifamed= 9 & (Task Force) A= & forwred sivren
TR ?
(a) T fraT=m ST SR S o 8 o [V 9dd e .
(b) W &% (Task Force) ¥ feewita smarm= T .
(c) SNTE HagH Yiqeya FvAEIS Aaei SEas SEN[ 4 Slieg Aavas: 3T,
(d) TaEEA Y TROfGh= Feasumiae] 59 e s uiia wEnagT e

HMTET.
it 39T
(1) (@) (o) o (d) (2 (b), () 3T (d)
(3) () (b) 3 (c) (4)  (a), (b), (c) 30fo1 (d)

Which are the main recommendations of the “Task Force on State Election Commission

and related matters” ? '

(a) Permanent staff of the state Election Commission should be limited to class IV.

(b) The Task Force supports a three-member Commission.

(c) Proper identification of voters based on photographic record is necessary to prevent
bogus voting.

{d) The state Election Commission should call for observers for elections to Panchayats
and Municipatlities from the Government of India.

Answer options :

(1) (a), (c) and (d) (2) (b}, (c) and (d)

(3) (), (b) and (c) (4) (a), (b), (c) and (d)

96. TSI FRIHTE T WARTC G qui=T 75, A aegd @ FYEd A I
(a) TITHTIAT Howdlt TPId®Hga d&ahl
(b) TEHATA Yeed™ TPUdIHSA TSawh
(c) Hara =rareaTsr & AEaeT=l 4 TPIdEg dedhi

(d) T

TgiEt S

(1) (@), (b) 2o (d) (2)  (b) =t (d)

(3)  (a) S (d) 4 (@ (c) 3 (a)

The term of Governor’s office is normally of Five years but it may get terminated earlier as
result of :

{a) Dismissal by the President on the advice of Prime Minister.

(b) Dismissal by the President on the advice of Chief Minister.

(c) Dismissal by the President on the advice of the Chief Justice of the Supreme Court.
(d) Resignation

Answer options :

(1) (), (b) and (d) (2) (b and (d)

(3) () and (d) (4) (@), () and (d)
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97. '\rTM Y39 aEM R’ afwia fasm TR YvamIet SEvas e i TR ?
(a) Tenfvw AR fSIesl Fer1 qar &,
(b)y o oA aftdiega foes Jiemg aa.
(c) Taos wnitv fasra Fa0wg freg Aot 9ar &,
(d) Faes oo faem T e daom osd.
iy S+
(1) (a) 30T (b) (2) (a) 30T (d) (3) (o) T (b) (4) TR (d)
What are the mandatory conditions for release of development grants under the ‘Backward
Regions Grant Fund (BRGF).
(a) District plans prepared by local bodies.
(b) District plans approved by the District Planning Committee (DPC).
(c) District plans prepared by the Disrict Rural Development Agencies (DRDA).
(d) District plans approved by the District Rural Development Agencies (DRDA).
Answer options :
() @and(® @) @andd) @) (@and() (&) only(d)

98, YITHA TS AT QSIS AT Ager WiHdr o et Fen ?
(a) UETER TS WEAWE) qThig TS GOl REw
(b) T F AR FfER TTH FI.
(c) TERE! TS WeA g YUmen S I,
(d) TN WAIRERd Y9Tad TSIHIE! UHl HrE! T o,

it I ¢
1) (), (b) S (d) (2} (b} (c) 0¥ ()
(3)  (a) (o) 3N (d) (4) (@) (b), (c) T (d)

What are the recommendations of Ashok Mehta Committee for strengthening the
Panchayat Raj System ?

(a) Open participation of political pariies in PRIs,

(b) Endowing them with the powers of taxation.

(c) Creation of three tier system of Panchayati Raj.

(d) Appointing a Minister for Panchayati Raj in the Council of Ministers of the State

Government.
Answer options :
(1} (a) (b) and (d) (2) (b), () and (d)

(3) (@) () and (d) 4 (a) (b) (c) and (d)
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99, TH 2014 = W IH MASU®i=a AagHR AEvEEET e o fAyMtRer @Y 318 ?
(A) T VA =IH 24 FH CH.ELT, FIAT 340 SN JIRE F B, AT AwdT e !
(B) < A= TH A fedeR 2013 = fiel FEsvma anv=n fas@ae g weia w @

&I,

Tgiy

(1) e (A) B 3R (2) %93 (B) WY M

(3) =R TR (4) <RI oA

Which of the following two statements about the exit polls for 2014 General Elections is

correct ?

(A} Todays Chanakya News 24 had projected 340 seats for the NDA, the closest to the
reality !

(B} Chanakya was alsc the only agency to predict the Aam Admi Party’s sweep in
Delhi in December 2013.

Options :
(1)  Only (A) is correct (2) Only (B) is correct
(3) Neither (A) nor (B) is correct (4) Both (A) and (B) correct

100. gAY {HEHE, 990 T9 Heialie A gdasr anfu frasome afired #w s ?
(a) AN HYL FOM TEEE S FEag (Afuer) et
(b) 3TEaTE HMTGUATE] (SAHHR) ot
(c) = 3for qurEviET SIfHHR
(d) T ST

wHiE I
(1) T (d) (2)  (a) R (d)
(3) (a), (b) 3T (d) @ () () (o) #for (@)

What are the features of the state supervision and control over Panchyat Raj institutions,
in most of the states ?

(a) Power to take action on defaulting Panchayats

(b) Power to call for proceedings

(c) Power of entry and inspection

(d) Dissolution of Panchayats

Answer options :

(1) Only (d) (2) (a) and (d)

(3) (@), (b) and (d) (4) (@), (b), (c) and (d)
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101. TR F@YE To TyHe vifen e, deuwe gt wdie Hur fa=mm =,
(a) T HEEICH ATgFFA FTA S0 rEEE s e faeard gieer T,
(b) T HEA T UiGHE vyl sradey sifusraidnst safsra stsargshardat Swat
faamdiiemn Jou o7k,
Taidt 34 ;
(1) T99M (a) SER 3R faum (b) T
(2) Taum (a) TR, (b) TR
(3) Tre fur sdeR amga.
(4) <= faur gE.

Consider the following statements with regard to the Sardar Vallabhbhai Patel National
Police Academy, Hyderabad.

(a)} The Academy trains IPS officers however also undertakes specialised courses for
others.

(b) The Academy is affiliated to Osmania University for conducting courses on
Non Police subjects for IPS officers.

Answer options :

(1) Statement (a) is correct, (b) is not
(2) (a) is not correct, (b) is correct
(3) Both the statements are correct
(4) Both the statements are incorrect

102. YE® Fvd faur drg o ?
(a) ofers Wit Tore |LEl <yrgE Aol FTerREiar HI0ar S,
(b) & wfird e wEfer e Javasfaics sewa gafad ofn w@= anfds g

T Yo gaiad.
et T
(1) W (a) (2) % (b)
@) (a)@ (b) A= T (4)  (a) 3nfur (b) S

Which of the following statements is correct ?

(a) C.D. Deshmukh recommended establishment of the Estimates Committee.

{(b) Estimates Committee not only keeps control over Govt. expenditure, it suggests
economy measures and also recommends financial administration reforms.

Answer options :

(1) Only (a) (2) _Only ()

(3)  Neither (a) nor (b} (4) Both (a) and (b)
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103, 99 2014 =1 QA6 MASUEhId HIv] Hivmen grfad ?

o = ST e

IECac] A
(a) i e Mt
(b) T 9 YEed Yed
() fife meswdt foeme qaweaR
(dy 379 =T IR i
() TN HZ e v
(f i fare i qed
(g) ewie fid EIECRNEE]
() o s TR T
(i) ®Hd el o Yeides
Gy e e fargasita e
(k) e |Ed THQIE HHd
() TS TR [ERIEECH
uaiy :

1) ())& G @ @600 @ O &0 @& @) 0 K
Who defeated whom in the 2014 Elections ?
Identify the incorrect pairs :

Won Lost
(a) Hina Gavit Manikrao Gavit
(b) Nana Patole Prafulla Patel
{¢) Nitin Gadkari Vilas Muttemwar
(d) Ashok Chavan D.B.Patil.
(e) Gopinath Munde Suresh Dhas
(fy  Shrikant Shinde Sunil Tatkare
(g) Anant Gite Anand Paranjape
(h) Supriya Sule Mahadeo Jankar
(iy Hemant Godse Chagan Bhujbal
(). Anil Shirole Vishwajeet Kadam
(k) Arvind Sawant Gurudas Kamat
()  Gajanan Kirtikar Milind Devra
Options :

() OO0 @ @®a0 6 &6k 0O @ @/ /@k
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104. qEI0 &IV faum A 2 ?
(a) =Y cdisuasEE g9 wien et e wie’ FHvA Sl
(b) HTHFHIE YHUROT HENA o MERE Aahi=a U IS SRR TR 991 T3H

et ST
(1) %F () (2) F (b)
() (@)d (o) TR TR () (a) 3nfor (b) A

Which of the following statements is correct ?

{a) Kothari Commission has recommended a mix-career examination for the senior
public servants.

(b)  Administrative Reforms Commission recommended a High Power Civil Services
Board for regulating service matters of all the Public Servants.

Answer options :

(1) Only () (2) Only (b)

(3)  Neither (a) nor (b) {4) Both {a} and (b)

105. RN IV ¥ 2014 = R FHeaeusmE! saeita ifen meiia 7@ wivama g9
? 7
(a) TR FHHIGA % e
(b) A s fafies, sem
() fethw frad s Smavde U™,
(d) TeFe sHSRTEE HIOREH, Tol fee,
(e) sfear sereRite foiies, =3,
(f) oIt SRR i e fafis, devem

a4ig :

(1) @ (d) (e) (2) (@) () (3) () (e) 4) (@), () ()
Who were involved in devising and designing Electronic Voting Machines for 2014 General
Elections ?

(a) Election Commission of India.

(b)  Bharat Electronics Ltd. Bangalore.

(c) Defence Research and Developments Organization.

(d) National Electronics Corporation, New Delhi.

(e) India Electronics Ltd. Chennai.

(f}  Electronics Corporation of India Ltd. Hyderabad.

Options :

(1) (@) (@) (o) (2} (@) (e) G © @ 4) (@) (b), (B
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106. I Sl Joodl,

(a) VlidRIeT® ®IM () fTafoe ww w=fad
(b) RO FHA (i) .1 vFd FHH F
(c) anfde FIm (i) %100 HH H9

(iv) & 19 % 1007 ¥4 &0
vt 34
(@ (b} (9
(U @) (v) (i)
(2) (v) @) (i)
(3) ) [ ()
@) (v) (i) (i)

Match the following :

{a) Token cut motion (i)  Reduced by specific amount
(b)  Policy cut motion (i) Reduced to Rs. 1
(c) Economy cut motion (iii) Reduced by Rs. 100

(iv) Reduced by Rs.1 to 100
Answer options :
(@) (b) (¢
(4} (i) (i) (i)
@) (v) () (i)
(3) (i) (i) (i)
@) (v) (i) (i)
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107. HTFRE-TE T F g Gogaidd F«red Hg @i ATet ?
(a) g TSt TR HE e 3Tl 31. 3. 2012 T<0,
(b) WIEU AUTT HIGTTeR, SRR STURAT h{elr el ToTard.
(¢) TenfTw Ween 3 o1 aege fudiear SR S 96T oTR.
(dy ffegia O TGtd age e I,
(e) Tenfen HE FX IEUM WA SAOTEN oAy 30 oo wean s,
() SATIRIAT T1iTeh eI FY T,
(g) o8 Wedd ST I WEA ATdes Yedatda w1 gead.
(h) 991 TR Wferehante Sifagia T18 So0-Ta &id 8id- UG W Heqen=dl Yar 40% Teqe G |
() E72013-14 9 QAN A EAE TR W GET I qaTe R dEeeae s

el

G) = ofidt o ) wnfe TN Ul goaafta F1 ST dea W e e
fF W T |

vy :

(1) (a) 0 (i) (2) () ¥ (c) (3) (v st (4)  (g) 30 G)
What is incorrect about Octroi - LBT- VAT ?

(a) LBT replaced Octroi on March 31, 2012.

(b}  Octroi is a tax levied on the entry of goods into the city.

{¢) Local Body Tax is a lumpsum amount charged on the value of goods.

(d) Octroi is collected in cash on a daily basis.

{e) LBT is payable within 30 days of bringing goods into the city.

(f)  The traders want LBT to be scrapped.

(g) It is being said that the State Government is thinking of increasing VAT instead.
(h) For PMC Octroi was a major source of income bringing in almost 40% therefrom.

(i) For 2013-14 the LBT collection for PMC was almost as much as the Octroi previous
collection.

(i) If LBT is replaced by VAT the civic body may lose financial autonomy, it is feared.
Options :
1) @and@ (D) @and@ () Mand@) (@) (g and ()
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108, TEIe S faumits! SvR @Y 1R ?
(A) <=9 AATCETTE =AETE, i § ST yraren wares <A AN 9 ehdr.

(B) YRATAT Haled Al AT s S Aoled 4 Tamed ey dae 9
e fag afeell A W Wt M 3 N9 gauiE 39 AaEads <y
3R,

iy
(1) hae (A) (2) 9 (B) (3) VAR () <R
Which of the following two statements is correct ?

(A) High court judges, lawyers and academics can become a judge of the Supreme Court
of India. :

{B) Adarsh Goel and Arun Mishra, both lawyers and Rohinton Nariman with Gopal
Subramaniam, both High Court Judges have been recommended to be on the
Supreme Court Bench.

Options :

(1) Only (A) (2) Only (B) (3) Neither (4) Both

109. GEGUH! RV T FOSIHET AT HeedTIET GIBSHAT A ?
(a) GfcaoTRie TR anfo Ugudis e HHER!
(b) foved HAACTT=aT MNEE ARUE GHEae e
(c) TEER faurmie - srsafd o
(d) Tomm enfon e AFEATde dtE 92

agigt 397 ¢
(1) (a), (o) =T () (2) (b, (c) =N ()
(3) (a), (b) 3 () 4) (a), (b), (c) &MT(d)

Which of the following posts are exempted from UPSC consultation ?
(a) Posts in the secretariat and personal staff of the President

(b) Posts in the government hospitality organization under the ministry of External
Affairs

(c) Group ‘B’ non-gazetted posts in the department of telecommunications
(d) Scientific posts in the ministry of science and technology

Answer options :

(1) (@) (9 and (@) (2) (b). (0 and (d)

(3) (a), (b) and (o (@) () (b (0 and (d)
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110. &1 M faumitet R e 3R ?
(a) ToFi® 1.4.1972 9N+ wEsFE SThARdE =N g 9aEdeld 9 wed at 22

FIETY AT
(b) =@ 22 HEHIYE! 7 UeH AN ITHAT.
Wf’d'}?ﬁl:{ :
(1) T (a) (2) %% (b)
(3) (a) 7 (b) BRI A (4) (@) 3T (b) <R

Which of the following two statements is incorrect ?

(a) The strength of the Committee on Public Undertakings has been raised to 22 with
effect from 15t April 1972.

(by Of the above said 22 members 7 members are from Rajya Sabha.

Answer options :

(1)__Only (a) (2} Only (b)

(3) Neither (a) nor (b) (4) Both (a) and (b)

111. T&® A fauriie! HIv[ 9rg o ? -
(a) oTETS GiTHI=N TR SrEEE UF aui=] 3794l
(b) TEHUHRUYY T Fara Hewd T ot O fagd dam.

Wﬁ'\'ﬁ:
(1) % (a) (2) W (b)
(3) () TFar (b) ST R 4)  (a) 3ufor (b) S

Which of the following two statements is correct ?
{(a}  The term of the office of members of the Estimates Committee is of one year.
(b) Normally one third of the members are re-elected for another year.

Answer options :
(1) __Only (a) (2) Only (b)
{3) Neither (a) nor (b) (4) Both (a) and (b)

112. GEio 51 faumids) Fe s e ?
(a) THNTHROY HESTH 3THH FHAS Sga@El S9EG 991 g Tl
(b) SrFeE lud! TG SEIUYY STEarS qTdd,

gy I :
(1) % (a) 2) W (b)
(3) (a) @ (b) I MEA 4)  (a) i (b) <

Which of the following two statements is incorrect ?

(@) Normally the report of the CPU (Comunittee on Public Undertakings) is not discussed
in the House.

{b)  The Public Accounts Comimittee basically reviews the Audit Report.

Answer options :

(1) Only (a) () Only (b)

(3)  Neither (a) nor (b) (4) Both (a) and (b)
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113, [EIo 24 faurides! S 97 &g ?
(a)

104

TEN aBMYE 10 TR Tiod STheHI= STHIgH! Hewmm A%y UH ¢ 949 Aqam.

(b)  TE TEITH] THIAT WG T@HUTE 10 AT Aol

T 3

(1) %® (a) (2) W (b)

(3) (a) T (b) T TR (4)  (a) O (b) =i

Which of the following two statements is correct ?

(a) Academy Board of Sardar Vallabhbhai Patel National Police Academy is headed by
the Home Secretary.
(b)  Sardar Patel was responsible for creation of the Home Department.
Answer options :
(1) Only (a) (2) Only (b)
(3}  Neither (a) nor (b) (4) Both (a) and (b)
114. Hai=a1 fftidiemen e am
ad
(a) WA gl ga i 1907
(b) URdE dufha T (i) 1906
(c) wRdra foneror qa (iii) 1897
(d) R F Fa (iv) 1892
T I
@@ G () (@
1 @ ) G )
(2) (v) () () ()
(3) @v) (@ i) (i)
4) @ @) (v) (i)
Maltch the pairs with regard to the creation of services :
Years
{a) Indian Service of Engineers (iy 1907
(b) Indian Medical Service (iiy 1906
{c) Indian Education Service (i) 1897
(d) Indian Agricultural Service (iv) 1892
Answer options :
(@ (b} (o) (9
(1) @ @ @@ (i)
(2) (iv) (i) (i) (i)
@) vy G @) (@)
@4 O G Gv) (i)
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115. @@ T8l ! TP Jeme SreameEd reeds] fom faum g o ?
(1) @ T I Ao oo [GHII TUIT HIdl.
(2) 1989 W4 & HAGAT AT FRiE
(3) 1989 IRy Tl 1w qHie dlco® Ued STt I Haredarsal JH .

(4) Tirg wfer 2T wum = 1 enfin v 2w 2012 TE gE.

Which of the following statements regarding Lal Bahadur Shastri National Academy of
Adminstration are TRUE ?

(1)  Set up at the site of old Charleville Hotel

(2)  Functioned under the Home Ministry until 1989.

(3) Under the Ministry of Personnel, Public Grievances and Pensions since 1989.

(4) Mid Career Training Programme of phase III and IV started from 2012.

116. TV BEYIEIONET TIMEHT YU A R 5o a1e ?
(1) FrfTs @ g (2) fafrdiem o wdgo
(3) T @ Tam (4) T 1 whE
Which type of Audit has been recommended by the Administrative Reforms
Comumission ?
(1) Performance Audit (2) Appropriation Audit
(3) Pre Audit (4) External Audit

117. WESHF IvHH BHAER 9 o Afgdie @ o ?
(a) HAEAHST WL MUt anfn afgw mitd
(b) STV HEEANANET WKL 3H
(c) <oHuren AfuFraigr fees e
(d) o T g

i 39T
(1) (a), () 31T () (2) (a) ¥ (Q)
(3} (@), (b) =0 (d) 4 (a), (), () 37 (d)

Which of the sources of information are utilised by the Committee on Public
Undertakings ?

(a) Preliminary and detailed information submitted by the Ministry

(by  Study submitted by non official organisations

{c) Evidence given by the officers of the Undertaking

(d) Audit Reports

Answer options :

(1) (a). (c) and (d) (2) (a) and (d)

(3)  (a), (t) and (d) (4) (a), (&), () and (d)
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118. WISTIH! Hivd FIERT & R (1923) FEH T 2
(1) Auifa® w8 a1 a9 el
(2) §d G T &
(3) ORHE AT T
(4) FE AW TS (TE)
Which of the following recommendations is not made by the Lee Commission (1923) ?
(1) _ Statutory civil services were abolished
(2) All services were to be classified
(3) Establishment of a Public Service Commission
(4) Better pay package
119. T windren qEifysd afad Tedide Ter SIvd S J3E 38 ?
(1) T fog afdt € & @it | S
@) & gid faidec=n s g o
(3) Taen et =it Toran
(4) i<t = v Sl el
Which of the following statements is incorrect about the predecessor of the Estimates
Committee ?
(1) Iis predecessor was the Standing Finance Committee
(2) This committee depended on the will of the legislature
(3) It had no statutory status
(4) Its functons were not clearly defined
120, EIOBTEH! HIW SEIIEN T4 TGS, Gay FER 0 A ?

(a) werE WA foa 9 faf@m dd
(b) SIS = T Tohed

(c) werg wEATeR s Qe
(d) WENE Sited gl o

Tqigt T
(1) (a), (b) 3 () (2)  (a), (b) W (d)
3) (@) () 3™ (a) (4)  (a), (b), (c) #fT (d)

Which of the following is audited by the Principal Accountant General, Mumbai ?
(a) Finance and Appropriation Accounts of Government of Maharashtra

(b) World bank aided projects

() Plan schemes of Maharashtra Government

(d) Accounts of the Maharashtra Jeevan Pradhikaran (MSP)

Answer options :

1) (@) (b) and () () (a), (b) and (d)

(3) (a) (c) and (d) (4) (a), (b), (c) and (d)

HoAT HMEE FRT / SPACE FOR ROUGH WORK

P.T.O.


Admin
Line

Admin
Line

Admin
Line


104 60 A

121, 'WEIE A WAAQ 9 ORI THE S SIIErs e SRd’ o7 gae aeedr
wieteyaE! Forn Fuaed e %3 7 ?
(1) T foem 3 gt &7 foeg g oiw e
(2) i sfifFara fu favg TfHeTg TR
(3) 3fem wieed fowg gfva Afw gfean
(4) =enm vie fatg s faads
In which of the following cases, Supreme Court has observed that “Social Justice’, equality
and dignity of persons are cornerstones of social democracy’.
(1)  Consumer Education and Research Centre V. Union of India
(2)  Shri Srinivasa Theatre V. Govt. of T.N.

(3) Indra Sawhney V. Union of India
(4) Valsamma Paul V. Cochin University

122, Wiedl S99 FEE 2000 =N rfa QOGIRT IV Foael §-He SF61 IJH GG 2
(1) SET=] HIoh =] W0 IA0d T WEAMTYER Jayr Sl
(2) @ Hiushme fam] e
(3) TOEMTHR AN SFTHY fad) eudfad @l mfedt wiag e
(4) FhSTH! BURE T,
Under the Jnformation Technology Act 2000, what is meant by e-mail Bombing ?
(1}  Accesses computer system of the other person without his permission.
(2) Introducing virus into any computer.
(3) Publishing false information through electronic media which will create terror in
the public.
{4} None of the above

123. Wieid o fauriis! Ivd STEa g ?

(a) T AR FAG] 2008 H-<d WEEd] T e eAM Wil e U b
T AT 3R TR AR TR = e,

(b) TRRISTE AT 10 UM =g ST we aea St 9 Hrail-a Fe e

gater I :

(1) ¥ (a) (2) s (b) (3) TR A (4) TR

Which of the following two statements is incorrect ?

(a) The Gram Nyayalayas Act, 2008 is for establishment of Gram Nyayalayas at the
lowest level of Panchavyati Raj institutions with a view to providing access to justice

to citizens at their doorsteps.
(b}  Tn Maharashtra 10 Gram Nyayalayas have so far been notified of which 9 have been

operationalized.
Answer options :
{1} (a) only (2} (b} only (3) Neither (4) Both
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124. YEER Jfasys @ 1988 Toie = Aofamm fave < T feres
e §d AfER 9 H1d Fdd A9 .

(1) sfead I@ =g, 1860

2) Hie 3F fasdie WEsR, 1973

3y e o smede aifeTH, 1944
(4) = R 9 et

A special Judge, while trying an offence punishable under the Prevention of Corruption
Act, 1988 shall exercise all the powers and functions exercisable by a District Judge under
the

(1) Indian Penal Code, 1860.

(2) Code of Civil Procedure, 1973

(3) __Criminal Law Amendment Ordinance, 1944
(4) Both CPC and CrPC.

—

125. viEsi Tird sifufem 1923 = Tge] Sivne S SIS B 3ed ?
(a) Wl HRAR
(b) T T HIYHR HreA SHid qRawe
(c) YRAETEL ST AHRTT JAAS SIhI
(d) HRATIEY Yeard IO I AR

I I fem,

U’ﬂhﬁ'ﬁﬁ:

(1) FF (a) A (c) (2) P (b) ST (c)
(3) E® (a) MW (d) (4)  (a), () 30T (d)

Where and to whom the provisions of official Secrets Act 1923 apply ?

(a) Whole of India

(b} Whole of India except the state of Jammu and Kashmir

(c) Persons residing outside India but who are in the service of Indian Government
(d) Non resident Indian citizens

Choose the correct alternatives

Answer options :

(1) (a) and (c) only (2) () and {(c) only

(3) (a} and (d) only {4) (a), (c) and (d)
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126. Jafitw = fom _ @ o6 €9 AR
(1) a8 FUIHGEE FACHEA! dl  (2) eI aTTS Far
(3) WY FHl (4) =Nt THE T
The rule of natural justice does not apply to ___ .
(1) Lecislative act of Legislature (2) Judicial act
(3) Administrative act (4) None of the above
127. 9/ 1- =niaes fagadienT € e ST et AT,
R 2- A THgEoind 8 TEHRIN (HemeEd a1 qeived T AR,
(1) a9 19F o7 oTfor e 2 Je o1,
(2) T 1 TS A A 2 TS TR,
(3) = 1 a0 aft T 2 9F o
(4) SPFI | ST ST 2 AR i STRA.
Statemerit 1- Judicial Review is a weapon and not a protection.
Statement 2-There is a distinction between ‘Judicial review’” and ‘administrative review’.
(1} Statement 1 is wrong and Statement 2 is correct.
(2) Statement 1 is correct and Statement 2 is correct.
(3) Statement 1 is correct and Statement 2 is wrong.
(4) Both the Statements 1 and 2 are wrong.
128, TTEH W FATA Hewld Wetoiet wowd faum ste sed ?

(a) AN AIE FET Fed

(b)  GATARIHIS S I GiE! wn A A el

(c) Tolegt HoTHHER & 5.5 O Hdd €9 Aedd &Ga0s A
(d) TE WEF HewEl T S feaiae! Ity o

g 39 ;
(1) (a) T (c) 39 TR, (2) (b, (c) T (d) 3TF™ TRA
(3) W T IRA (4) e § IR

Which of tie following statements are Not True in relation to Consumer Protection Act ?
{a} Complaint under the act can be oral

(b} A person who buys the goods for resale is not a consumer

{(c)  District forum can entertain the claims only upto Rs. 5 lakhs, not above that

(d) In State Commission one seat is reserved for women

Answer options :

(1) () and (c) not true (2) (b), (c) and (d} untrue

(3) Al are untrue (4) All are true
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129. TOEIEH! SR faum § ToTEHTE AEHFTTS ST A 7

(1) feamht e FE AUER & SR

(2) et wWEE qitaE fE qdda dyTeRE o

(3) e =t 7= FuHEnE o

(4) o T wROT IO FYTRRE R

Which of the following is not applicable to the Administrative Tribunal ?
(1)  Ttis invested with some of the powers of civil court

(2} Tt is bound strictly by technical rules of evidence

{3) Itis bound to follow principles of natural justice

(4} Tt is bound to record reasons in support of the order passed by it

130.

Frie WEeR ®iE, 1973 Fo5 125 TaRr Ko 1o fFaferan sifysr 31 w&@en @eiedst vk
wftfeodia ArpRel TS v ?

(1) SR 96 TR HRAA A TRd IO

(2) W UAISA T THS

(3) T S TG N SRS JRUETH TER 49 ST
4) TR gE wigewad f9aE e e

Under which one of the following circumstances the right of maintenance available to
wife under sec. 125, Cr PC 1973 can be denied to her ?

(1)  Wife living separately by mutual consent

(2}  Wife having no child

(3)  Wife refuses to live with her husband for sufficient reasons
(4) Husband contracted marriage with another lady

131.

FOER giaey sIfgfad, 1988 TR STaa® & 99 U5 380 W @M SEeyR Aeesiias
T FTE

(a) RS WD by Frzae @

() TFasrmmE g T o (d) TrevaEE ad o0 SWde

T HIoE! fT6 THET 3R ?

(1) (a) 5 (b) (2)  (a) W (c) @ () @ @, b ©) @
A Tublic servant can be punished under Prevention of Corruption Act, 1988 if the
gratification other than legal remuneration has been :

(a) accepted (b} obtained

(c) Agreed to accept (d) Attempted to obtain

Which of the statement given above is/are correct ?

(1) (a) and (b) (2)  (a) and (c) (3) (b)and (d) &) All(a), (b), (0). (d)
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132. WA Sfaummdte sio@ 99 8 Sfeeisn TaEier T SO e @ SaEed garah)
(1) o AR (2) Ao FA
(3) wEmEAl (4) TeuTen fERIE ArEY® T
Which part of the Indian Constitution specifically speaks about renouncing the practices
derogatory to the dignity of women ?
(1) Fundamental rights (2)  Fundamental duties

(3} Preamble (4}  Directive principles of state policy

133. YA WISToeh! hivred IR Tomde 3 s s et sifusms nfrs
qAfderR % vERd 7
(1) wvmEsg FuiEEt G sevararet
(2) &l ToeETE! A O TSdTEvarel
(3) Frofaufear s @t e AT ¢ TedmvarEt
(4) FOEIET Uhet L

In India, under which of the following circumstances the court can interfere with the
discretionary powers exercised by the administrative authority ?

(1) To see correctness of administrative decision
(2) To re-appreciate the evidence

(3) To examine decision making process

(4) None of the above

134, GOGIE] TIHFE AT EHI0 A0 37 2

(a) TR AUy =T (b) TR fam) =manes

(c) wHI0EE I (dy e e

it 3

(1) %® (a) (2) (a3 (d) (3) @ T @ =t T

Which of the followings are Administrative Tribunals ?

(a) Income tax appellate Tribunal  (b) Employees’ Insurance Court

(c) The copyright Board (d})  Industrial Court

Answer options :

(1) (a) only (2) {a) and (d)

(3) (a), (b) and (d) (4)  All are administrative tribunals
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135. WGwS! FI0ME LI YIR0 (Gern) Afufram, 1986 74 TqEI0 FavfR R ?
(1) vafaToe Seego (2) TAETOTE U
(3) T SETGAT AR A0 (4) SR SHad|

Which of the following objects is not specifically included in Environment (Protection)

Act, 1986 ?
(1)  Protection of Environment (2} Improvement of Environment
(3) Prevention of hazards to plants etc. (4)  Conservation of Land

136. foiig sqat et

(a) TIHET UG dehevete] (b) . AYF TGN

(¢) &t SadafET (d)y = Fdtam

(e) ot sreTdRE WA (fy i vhLye amen

g

(1) (b) (2) (@) @) (o) ) )

Spot the odd man out :
(a) Prof. Ummareddy Venkateshwarlu (b}  Shri. Madhukar Sarpotdar

{c) Shri. Jaswant Singh (d) Shri. Bansi Lal.

{e) Shri. Balwantray Mehta (f)  Shri. Shankarsingh Vaghela
Option :

1) () @) (@) G) (© @

137, TITEEE FIEET IO ST WISioUR! SV A6 ?
(a) aTaiEren foR (b) Wl srgame/fuTE
(c) wel anfer afgane (d) TR FoF FammEeTE

(e) wumHed G4
il I
(1) " () (2)  (b) 3 () (3)  (b) 3WMW (e) @) (c) ¥ (e)

Which of the following are not the main sources of administrative Law ?

(a) Judicial decisions (b} Reports of committees

(c) Custom and usage  (d} Rules Regulations and Laws framed by the government
{e) Administrative practice

Answer options :

(1)  Only (¢} (2) (b) and (c) (3) (b) and (e) (4) {c) and (e)
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138. wwwg fua aifafam 1923 snfor mifedt sifummoan w1a@T 2005 AR wwERfEdHt qXqe
BT HIVIT TG B BHeltes ?
(1) s i afufem 1923
(2) v Fo=t gffeydt sfn g AR AT W
(3) wifedt SIfuserr=n HET 2005 =1 TGS!
(4) W Iy Tee @

When there are contradictory provisions in Official Secrets Act 1923 and Right to
Information Act 2005, which provisions will prevail ?

(1} Provisions of Official Secrets Act 1923

(2) Depends on facts and situation of each case
(3) Provisions of Right to Information Act, 2005
(4) At the discretion of a court

139. TEH W& HEUAIG AHGAH GIOoTs] SV 601 RS SEoe e 7
(a) A YAE HIOM FATE! (b) TR T IR
(c) UHEITEw i AueeATed avier (d) S fammer iR wodt @,
T ugig e
(1) (b) 3 (c) Tew T (2) (a) ¥ UREH TR
(3) ()& UEH TR 4) W UEE .

Under Consumer Protection Act, from amongst the following persons who are not held
to be the Consumers ?

(a) A passenger travelling by train. (b} A depositor of money.

(c) Subscriber of MTNL or BSNL. (d) Nominee under LIC policy.
Answer options :

(1) (b) and (c) are not the Consumers (2) (a) is not the Consumer

(3) (d) is not the Consumer (4) Al are Consumers

140. ‘791 fede 39 399 3 WA F(a0’ (Nemo debet Esse Index in Propria Causa) 41 [Tk
gt A HT o1 R 2
(1) T FHE gF HW@ TEL
() HIUEE S = YR AR 3 hd ARl
(3) = AigvaT=l Wit feeanfiam SIvE saewten foan Sua o .
(4) W o de ol 3w,
What is the meaning of the Latin Maxim “Nemo debet Esse Index in Propria Causa” ?
(1) King does not wrong
(2) No man shall be judge in his own cause

(3) No man shall be condemned unheard
(4) He who hears the case, must decide
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141. WEOIHT FOE @G THE AEaEE A oA S0 7
(a) TUH AUFAIE Y Ao WY gEAE AfgsEm e e,
(by Tasdt wTom srsieren e 919 TR Svard drorEe 901 @ e .
(c) [aridr fhen =nfas ¥¥1 SEUE e VA Ti0] 9ed fGat N TEL
(d) A THES FW@H [FEmeATor THes et @ Bu THA T U @l g e
THOATH FHFE HI.
i 3
O @FE @ @I@D @ @AME (@ G
In which of the following cases rules of natural justice are violated ?
ga Personal hearing was given by one officer and order was passed by another officer.
b}  An opportunity of being heard was given to the petitioner but he did not avail it.
(c) Legal assistance was not afforded because there were no complicated questions or
facts of law involved.
{d) Student was found copying at an Exam, he was debarred without giving him a
reasonable opportunity of being heard.
Answer options :
(1) @and(®) () @and(d) () @and(d)  (4) (b)and (d)
142, oM 9EGL WS SRRl A% Sfefufrdyr Tl 39 ST 1yrawA aerdr.

I EHEVAS S eI ST 37
(1) o9 %2
(2) SrEETEH

(3) 4RV SUFN FHE dABIUIET
(4) o o T A T

A number of courses are conducted in the Lal Bahadur Shastri Academy of Administration,
Mussoorie.

Among them the Foundational Course is basically :
(1)__Knowledge centred

) Skill oriented

) Enhancement of policy formulation capabilities
)

None of the above options is correct
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143. U feumm (vhEy) sfafam 2005 = sfaria Afgs Geerm @ SEsiaid Teteds!
FIMST THR FL 44 AL ?

(1) o
(2) owiEy steR TEuRt @t
(3) <wE qorl

(4) TUT Td THR TES FE IS,

Who can not complain of Domestic Violence under the Protection of Women from Domestic
Violence Act 2005 ?

(1) Mother

(2) Woman staying with a man in live-in relationship
(3) Adopted daughter

{4) All the above can file a complaint

144. yFER yfaeY FEae GOEtH! SO R TTEaE | T TR ?
(a) W €8 faum (IPC) wew 2137 fedean wd =t
(b) ol FEHEM FEEdE HeAw
(c) wfipa faamdie W
(d) SHIT TER HEE GS T v AeniaE 9 Wigiod HEeie TeihEnL
Tatet 39T
1) &% (a) (2} (a) 3 (b)
(3) (a) 1 (d) (4) g TEE A
Who are not included within the definition of “Public Servant” under the provisions of
Prevention of Corruption Act ?
(a)  All the persons mentioned under 5 21 of Indian Penal Code as Public Servants
(b) Chairman of Reg. Co-operative Society
(c) Professors of Recognised University
(d) Office bearers of social or cultural organisation to which Govt. grants are given
Answer options :
(1)  (a) Only (2) () and (b)
(3) (a) and (d) (4) All are included
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145. @EIGAHT Rl AT IR GrayEt Qe TRl 7A€ FEeiR wRo
IR 94 e gaed e wes e ?
(1) W= 3w gore foeg S w@e (2)  Temiooe favg TioM SRR
(3) FN NS f9%E W AE . (4) uTee fawg s, S e faer

In which of the following cases, ‘the Supreme Court has held that ‘public health is a valid
ground to restrict the use of loudspeakers’.

(1) State of Raj V. G. Chawla. (2) Himmat Lal V. Police Commissioner.
(3) Krishna Gopal V. State of M.P.  (4) Dhanna Lal V. 1. G. Police, Bihar.

146, R 7@ &0 ifyfTeam 1955 = WEIER WE@tS! HI0M FE ATY IS ?
@) ‘& I IS WEET S @it el o Suar fafine swdten S AR F.
(b) TAE(E HyehdTearn fafre St uwi=n Sw yon T
(c) =N HREET W e foenef=h st qHeEN Hol
@) ‘a7 fafie Sdac safom foamw Feame '8 anfor e F2Ea SRt e,
gidt 34
(1) (b), (c) nfvT (d) (2) S (b) M (o)
(3) EF (b) ST (d) (4) A& FA FATY A

Under the provisions of Protection of Civil Rights Act 1955, which of the following Acts
are considered as offences ?

{a) X prohibits the people of a particular caste to take water from the well which is
in his back yard and owned by him

(b) People of particular caste and religion are not allowed to enter in the hair - cutting
saloon on the road

(c) Ina school separate division was made for the students of a particular caste

(d) Ban was imposed on ‘X’ and his family for ‘X’ marrying a person belonging to a
particular caste.

Answer options :
(1) (b}, (c) and (d) (2)  (b) and {c) only
(3) (b)and (d) only {4) All the above (a) to (d) are offences
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70 A

e R0 wo faum 9 R ?

(a) TFEYIA Tk gl WA X wew fradiet Hivieard) wiifeeda fasos snevs
A,

(b)  FramEwY ErEweEn HEE AR qEA i vaen e W,

i

(1) T (a) (2) e (b) (3) WFWE AR (4)

Which of the following two statements is correct ?

{a) Anelection is ought to be held for selecting candidates from .ok Sabha on the Public
Accounts Committee.

(b) By rule the Chairman of the Public Accounts Committee is a member of the main
opposition party.

Option :

(1)  Only (a) (2)  Only (b) (3)  Neither (4)  Both

WHGIH] FI STGAE hard AfEd] SIErmhgT (Tdwa va wiiedren i FreTe

FOH 2 (TA) Aqia  widwte wivwe sea’ s fofg e o

(1) o wm 35 i ug. U owe foes weadrt, st anfir gae

2) 4w H oswEe dfv sife e foeg wsngdd, S, /s, dtam, e,
Eilecciit

(3) & W %, 3781 Inior el MR faes vemgH, diSrd, d@idtem, diiem, wrEd, s

(4) v M favg vardtd, S, didien, didem, wadtd), shead

in which of the following appeals Central Information Commission has decided that
‘political parties are public authorities under section 2 (h} of the RTI Act’ ?

(1) Shri AS. Saini and S.A shah Vs ASCC, BJP and others

(2) Shri 5.C. Aggrawal and Anil Bairwal Vs AICC, BIP, CPM, CPI, NCP, BSP
(3) Shri K. Arun and Shashi Gandhi Vs AICC, BJP, CPM, CP’1, NCP, BSP
(4) Shailesh Gandhi Vs AICC, BjP, CPM, CP1, NCP, B5P
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149. Y&ie 3 faumiis! o @wg o 7
(@) TR AT FAHSS Higd! gEA NUFHTAFS TR 7% 7 (T Q=1 A s&iadia 7.
(b) < Hifgdt mitad! R fae Sem 9ige e 4wk Tvie €0 s Savad
Tatet 3L ;
1) w9 (a) 2) w® (b)
(3) (a)d (b) T T (@)  (a) SO (b) T
Which of the following two statements is correct ?

{a) If the information being sought is held by another public authority the application
has to be transferred within 7 days.

{b)  Only contact details have to be furnished but for the information being sought.
Answer options :

(1) Only (a) (2) Only (b)

(3) Neither (a) nor (b) (4) Both (a) and (b)

150. T &9 faumitet FIv @¥ o7g ?
(a) WA qETE STHFRHE Hd YIGR Feavdl T 98 T8¢l S WRA 1947 - 1952 Fieord

IMYATHE B,

(b) STHIHM TyEE Ferel! afgda smitt dam 934 fae 99 1978 wed 39Ee wad
firzzra,

H‘ﬂ‘f’ﬂ‘:

(1) T () (2) == (b) (3)  HORE A (@) =

Which of the following two statements is correct ?

(a) The Indian Police Academy has been named after Sardar Vallabhabhai Patel who
was the Dy. Prime Minister of India from 1947 to 1952.

(b) In recognition of the ouistanding achievements and its service to the nation the
Academy received the president’s colours in 1978.

Option :
(1}  Only (a) (2) Only (b} (3) Neither (4) Both

-oQo-
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ol — (9= 1 9864 R....)

® wgfcwne fafea Fown Bt arie 5 oW (1% 7%) =@ gissialEd Saefsa o
30 FFGIAR Fw hIH HeAE d FG FI0AN FIH HO AR, Y WIS MG 9 AR I
A R Foe ' rieimed g NyswnAr giaey stoqaas s -g2 ' A WEeTEN FREE
v J5T 9 AN Had! FAIS TF auie HREEE fyfRa ¥94 w9 e Seren fad
T BT

©) T TEuiEkRarel A fafed Fod 9w Yeearal ITEERal 8 WEgRaw TaaEt SR aERt
U A WA AR, WTH O FHATTET ATUargdl IWTATIA ATIear IRIatehen H- 1
TrAYTEEHE T [T T w0 Evas AN

T W

I . 201, Fa=1 916 T FUAET HI00 God: TG S 7
(1) T A TEd @ vedEg femmm
@) T e W (4)  TEE TS

T W P S (3) T T T o g e @ W I C(3)! diEe, aead
EHSTH 4¥T F. 201 WA IT-FAE C(3)" R Af@ N0 srAifee e grafa
1920 D @O @ @

M UGEH THA TETYIEHde G Tl gHE1 ST TiE B eIl TRl iased
TIOAFFIS o & yEETEEEe gefua 9 quian ewifed e qradd]. @i iar
T HTEAT IS Aredd Srvd, Bfee 91 e 1 e 4.
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